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S1. Example input files for the NEWGARDEN modelling software illustrating input parameters for each 
of the study species a) Grevillea paradoxa, b) Melaleuca nematophylla, c) Grevillea globosa,d) Mirbelia 
sp. Bursarioides.  
 
a) 
<LOCI  number_loci ="12"> 
<locus> 
<functionpoint x="0.4651" y="0"/> 
<functionpoint x="0.2062" y="1"/> 
<functionpoint x="0.1225" y="2"/> 
<functionpoint x="0.0598" y="3"/> 
<functionpoint x="0.0538" y="4"/> 
<functionpoint x="0.0299" y="5"/> 
<functionpoint x="0.0129" y="6"/> 
<functionpoint x="0.008" y="7"/> 
<functionpoint x="0.008" y="8"/> 
<functionpoint x="0.005" y="9"/> 
<functionpoint x="0.004" y="10"/> 
<functionpoint x="0.003" y="11"/> 
<functionpoint x="0.003" y="12"/> 
<functionpoint x="0.003" y="13"/> 
<functionpoint x="0.003" y="14"/> 
<functionpoint x="0.003" y="15"/> 
<functionpoint x="0.003" y="16"/> 
<functionpoint x="0.003" y="17"/> 
<functionpoint x="0.001" y="18"/> 
<functionpoint x="0.001" y="19"/> 
<functionpoint x="0.001" y="20"/> 
<functionpoint x="0.001" y="21"/> 
</locus> 
<locus> 
<functionpoint x="0.5015" y="0"/> 
<functionpoint x="0.2162" y="1"/> 
<functionpoint x="0.0771" y="2"/> 
<functionpoint x="0.0581" y="3"/> 
<functionpoint x="0.041" y="4"/> 
<functionpoint x="0.035" y="5"/> 
<functionpoint x="0.033" y="6"/> 
<functionpoint x="0.024" y="7"/> 
<functionpoint x="0.005" y="8"/> 
<functionpoint x="0.004" y="9"/> 
<functionpoint x="0.003" y="10"/> 
<functionpoint x="0.001" y="11"/> 
<functionpoint x="0.001" y="12"/> 
</locus> 
<locus> 
<functionpoint x="0.728" y="0"/> 
<functionpoint x="0.138" y="1"/> 
<functionpoint x="0.076" y="2"/> 
<functionpoint x="0.011" y="3"/> 
<functionpoint x="0.009" y="4"/> 



<functionpoint x="0.008" y="5"/> 
<functionpoint x="0.006" y="6"/> 
<functionpoint x="0.005" y="7"/> 
<functionpoint x="0.005" y="8"/> 
<functionpoint x="0.004" y="9"/> 
<functionpoint x="0.004" y="10"/> 
<functionpoint x="0.004" y="11"/> 
<functionpoint x="0.001" y="12"/> 
<functionpoint x="0.001" y="13"/> 
</locus> 
<locus> 
<functionpoint x="0.6833" y="0"/> 
<functionpoint x="0.2637" y="1"/> 
<functionpoint x="0.011" y="2"/> 
<functionpoint x="0.006" y="3"/> 
<functionpoint x="0.004" y="4"/> 
<functionpoint x="0.004" y="5"/> 
<functionpoint x="0.004" y="6"/> 
<functionpoint x="0.004" y="7"/> 
<functionpoint x="0.004" y="8"/> 
<functionpoint x="0.003" y="9"/> 
<functionpoint x="0.003" y="10"/> 
<functionpoint x="0.003" y="11"/> 
<functionpoint x="0.001" y="12"/> 
<functionpoint x="0.001" y="13"/> 
<functionpoint x="0.001" y="14"/> 
<functionpoint x="0.001" y="15"/> 
<functionpoint x="0.001" y="16"/> 
<functionpoint x="0.001" y="17"/> 
<functionpoint x="0.001" y="18"/> 
</locus> 
<locus> 
<functionpoint x="0.487" y="0"/> 
<functionpoint x="0.152" y="1"/> 
<functionpoint x="0.142" y="2"/> 
<functionpoint x="0.085" y="3"/> 
<functionpoint x="0.075" y="4"/> 
<functionpoint x="0.02" y="5"/> 
<functionpoint x="0.011" y="6"/> 
<functionpoint x="0.008" y="7"/> 
<functionpoint x="0.005" y="8"/> 
<functionpoint x="0.004" y="9"/> 
<functionpoint x="0.003" y="10"/> 
<functionpoint x="0.003" y="11"/> 
<functionpoint x="0.003" y="12"/> 
<functionpoint x="0.001" y="13"/> 
<functionpoint x="0.001" y="14"/> 
</locus> 
<locus> 
<functionpoint x="0.4945" y="0"/> 
<functionpoint x="0.2243" y="1"/> 



<functionpoint x="0.2074" y="2"/> 
<functionpoint x="0.013" y="3"/> 
<functionpoint x="0.011" y="4"/> 
<functionpoint x="0.009" y="5"/> 
<functionpoint x="0.008" y="6"/> 
<functionpoint x="0.006" y="7"/> 
<functionpoint x="0.005" y="8"/> 
<functionpoint x="0.005" y="9"/> 
<functionpoint x="0.003" y="10"/> 
<functionpoint x="0.003" y="11"/> 
<functionpoint x="0.003" y="12"/> 
<functionpoint x="0.003" y="13"/> 
<functionpoint x="0.003" y="14"/> 
<functionpoint x="0.001" y="15"/> 
<functionpoint x="0.001" y="16"/> 
</locus> 
<locus> 
<functionpoint x="0.288" y="0"/> 
<functionpoint x="0.167" y="1"/> 
<functionpoint x="0.145" y="2"/> 
<functionpoint x="0.125" y="3"/> 
<functionpoint x="0.108" y="4"/> 
<functionpoint x="0.058" y="5"/> 
<functionpoint x="0.046" y="6"/> 
<functionpoint x="0.025" y="7"/> 
<functionpoint x="0.013" y="8"/> 
<functionpoint x="0.011" y="9"/> 
<functionpoint x="0.009" y="10"/> 
<functionpoint x="0.003" y="11"/> 
<functionpoint x="0.001" y="12"/> 
<functionpoint x="0.001" y="13"/> 
</locus> 
<locus> 
<functionpoint x="0.742" y="0"/> 
<functionpoint x="0.233" y="1"/> 
<functionpoint x="0.011" y="2"/> 
<functionpoint x="0.008" y="3"/> 
<functionpoint x="0.006" y="4"/> 
</locus> 
<locus> 
<functionpoint x="0.4256" y="0"/> 
<functionpoint x="0.1818" y="1"/> 
<functionpoint x="0.1668" y="2"/> 
<functionpoint x="0.1069" y="3"/> 
<functionpoint x="0.0579" y="4"/> 
<functionpoint x="0.048" y="5"/> 
<functionpoint x="0.004" y="6"/> 
<functionpoint x="0.004" y="7"/> 
<functionpoint x="0.003" y="8"/> 
<functionpoint x="0.001" y="9"/> 
<functionpoint x="0.001" y="10"/> 



</locus> 
<locus> 
<functionpoint x="0.51" y="0"/> 
<functionpoint x="0.15" y="1"/> 
<functionpoint x="0.064" y="2"/> 
<functionpoint x="0.054" y="3"/> 
<functionpoint x="0.048" y="4"/> 
<functionpoint x="0.035" y="5"/> 
<functionpoint x="0.035" y="6"/> 
<functionpoint x="0.029" y="7"/> 
<functionpoint x="0.026" y="8"/> 
<functionpoint x="0.009" y="9"/> 
<functionpoint x="0.008" y="10"/> 
<functionpoint x="0.006" y="11"/> 
<functionpoint x="0.006" y="12"/> 
<functionpoint x="0.005" y="13"/> 
<functionpoint x="0.003" y="14"/> 
<functionpoint x="0.003" y="15"/> 
<functionpoint x="0.003" y="16"/> 
<functionpoint x="0.001" y="17"/> 
<functionpoint x="0.001" y="18"/> 
<functionpoint x="0.001" y="19"/> 
<functionpoint x="0.001" y="20"/> 
<functionpoint x="0.001" y="21"/> 
<functionpoint x="0.001" y="22"/> 
</locus> 
<locus> 
<functionpoint x="0.2577" y="0"/> 
<functionpoint x="0.2048" y="1"/> 
<functionpoint x="0.1758" y="2"/> 
<functionpoint x="0.1259" y="3"/> 
<functionpoint x="0.1009" y="4"/> 
<functionpoint x="0.029" y="5"/> 
<functionpoint x="0.025" y="6"/> 
<functionpoint x="0.02" y="7"/> 
<functionpoint x="0.02" y="8"/> 
<functionpoint x="0.018" y="9"/> 
<functionpoint x="0.006" y="10"/> 
<functionpoint x="0.003" y="11"/> 
<functionpoint x="0.003" y="12"/> 
<functionpoint x="0.003" y="13"/> 
<functionpoint x="0.003" y="14"/> 
<functionpoint x="0.003" y="15"/> 
<functionpoint x="0.001" y="16"/> 
<functionpoint x="0.001" y="17"/> 
</locus> 
<locus> 
<functionpoint x="0.3101" y="0"/> 
<functionpoint x="0.2203" y="1"/> 
<functionpoint x="0.1336" y="2"/> 
<functionpoint x="0.0927" y="3"/> 



<functionpoint x="0.0728" y="4"/> 
<functionpoint x="0.0449" y="5"/> 
<functionpoint x="0.0439" y="6"/> 
<functionpoint x="0.0359" y="7"/> 
<functionpoint x="0.0189" y="8"/> 
<functionpoint x="0.01" y="9"/> 
<functionpoint x="0.008" y="10"/> 
<functionpoint x="0.003" y="11"/> 
<functionpoint x="0.003" y="12"/> 
<functionpoint x="0.003" y="13"/> 
</locus> 
</LOCI> 
<Dioecious value ="false"/> 
 
<Reproduction_Rate> 
<functionpoint x="0" y="0"/> 
<functionpoint x="1" y="0"/> 
<functionpoint x="3" y="1"/> 
<functionpoint x="7" y="2"/> 
<functionpoint x="8" y="3"/> 
<functionpoint x="10" y="4"/> 
<functionpoint x="15" y="4"/> 
<functionpoint x="16" y="3"/> 
<functionpoint x="19" y="2"/> 
<functionpoint x="20" y="0"/> 
<functionpoint x="25" y="0"/> 
</Reproduction_Rate> 
 
<Offspring_Distribution method="bracket"/> 
 
<Pollen_Rate> 
<functionpoint x="0" y="0"/> 
<functionpoint x="1" y="0"/> 
<functionpoint x="2" y="1"/> 
<functionpoint x="7" y="1"/> 
<functionpoint x="8" y="1"/> 
<functionpoint x="10" y="1"/> 
<functionpoint x="11" y="1"/> 
<functionpoint x="20" y="1"/> 
<functionpoint x="21" y="0"/> 
</Pollen_Rate> 
 
<Mortality_Rate> 
<functionpoint x="0" y="0"/> 
<functionpoint x="1" y="0.25"/> 
<functionpoint x="2" y="0.5"/> 
<functionpoint x="3" y="0.1"/> 
<functionpoint x="4" y="0.01"/> 
<functionpoint x="5" y="0.01"/> 
<functionpoint x="6" y="0.01"/> 
<functionpoint x="7" y="0.01"/> 



<functionpoint x="8" y="0.01"/> 
<functionpoint x="9" y="0.01"/> 
<functionpoint x="10" y="0.01"/> 
<functionpoint x="11" y="0.01"/> 
<functionpoint x="12" y="0.02"/> 
<functionpoint x="13" y="0.05"/> 
<functionpoint x="14" y="0.05"/> 
<functionpoint x="15" y="0.05"/> 
<functionpoint x="16" y="0.05"/> 
<functionpoint x="17" y="0.05"/> 
<functionpoint x="18" y="0.05"/> 
<functionpoint x="19" y="0.05"/> 
<functionpoint x="20" y="0.1"/> 
<functionpoint x="21" y="1"/> 
</Mortality_Rate> 
 
<Selfing_Rate value ="0.26"/> 
 
<RandomMating value="true"/> 
<Fruit_Distance value ="0.0"/> 
 
<Dispersal_Distribution> 
<functionpoint x="0" y="0"/> 
<functionpoint x="1" y="0.8"/> 
<functionpoint x="2" y="0.9"/> 
<functionpoint x="3" y="0.95"/> 
<functionpoint x="4" y="0.97"/> 
<functionpoint x="5" y="0.99"/> 
<functionpoint x="6" y="1"/> 
</Dispersal_Distribution> 
<Pollen_Distances> 
<SampledFunction> 
<functionpoint x="0" y="2"/> 
<functionpoint x="1" y="5"/> 
<functionpoint x="2" y="15"/> 
<functionpoint x="3" y="20"/> 
<functionpoint x="4" y="30"/> 
<functionpoint x="5" y="40"/> 
</SampledFunction></Pollen_Distances> 
<Pollen_Distance_Probabilities> 
<functionpoint x="0.01" y="5"/> 
<functionpoint x="0.01" y="6"/> 
<functionpoint x="0.03" y="4"/> 
<functionpoint x="0.05" y="3"/> 
<functionpoint x="0.1" y="2"/> 
<functionpoint x="0.2" y="1"/> 
<functionpoint x="0.6" y="0"/> 
</Pollen_Distance_Probabilities> 
<Region XL="0" YL="0" XH="2,000" YH="2,000" > 
 
</Region> 



<SummaryRegions> 
</SummaryRegions> 
<Number_Generations value ="50"/> 
<Number_Runs value ="10"/> 
<Initial_Population> 
<Plant age="0" femaleP="false" X="4" Y="5"/> 
<Plant age="0" femaleP="false" X="8" Y="5"/> 
<Plant age="0" femaleP="false" X="12" Y="5"/> 
<Plant age="0" femaleP="false" X="16" Y="5"/> 
<Plant age="0" femaleP="false" X="20" Y="5"/> 
<Plant age="0" femaleP="false" X="24" Y="5"/> 
<Plant age="0" femaleP="false" X="28" Y="5"/> 
<Plant age="0" femaleP="false" X="32" Y="5"/> 
<Plant age="0" femaleP="false" X="36" Y="5"/> 
<Plant age="0" femaleP="false" X="40" Y="5"/> 
<Plant age="0" femaleP="false" X="44" Y="5"/> 
<Plant age="0" femaleP="false" X="48" Y="5"/> 
<Plant age="0" femaleP="false" X="52" Y="5"/> 
<Plant age="0" femaleP="false" X="56" Y="5"/> 
<Plant age="0" femaleP="false" X="60" Y="5"/> 
<Plant age="0" femaleP="false" X="64" Y="5"/> 
<Plant age="0" femaleP="false" X="68" Y="5"/> 
<Plant age="0" femaleP="false" X="72" Y="5"/> 
<Plant age="0" femaleP="false" X="76" Y="5"/> 
<Plant age="0" femaleP="false" X="80" Y="5"/> 
<Plant age="0" femaleP="false" X="84" Y="5"/> 
<Plant age="0" femaleP="false" X="88" Y="5"/> 
<Plant age="0" femaleP="false" X="92" Y="5"/> 
<Plant age="0" femaleP="false" X="96" Y="5"/> 
<Plant age="0" femaleP="false" X="100" Y="5"/> 
<Plant age="0" femaleP="false" X="4" Y="9"/> 
<Plant age="0" femaleP="false" X="8" Y="9"/> 
<Plant age="0" femaleP="false" X="12" Y="9"/> 
<Plant age="0" femaleP="false" X="16" Y="9"/> 
<Plant age="0" femaleP="false" X="20" Y="9"/> 
<Plant age="0" femaleP="false" X="24" Y="9"/> 
<Plant age="0" femaleP="false" X="28" Y="9"/> 
<Plant age="0" femaleP="false" X="32" Y="9"/> 
<Plant age="0" femaleP="false" X="36" Y="9"/> 
<Plant age="0" femaleP="false" X="40" Y="9"/> 
<Plant age="0" femaleP="false" X="44" Y="9"/> 
<Plant age="0" femaleP="false" X="48" Y="9"/> 
<Plant age="0" femaleP="false" X="52" Y="9"/> 
<Plant age="0" femaleP="false" X="56" Y="9"/> 
<Plant age="0" femaleP="false" X="60" Y="9"/> 
<Plant age="0" femaleP="false" X="64" Y="9"/> 
<Plant age="0" femaleP="false" X="68" Y="9"/> 
<Plant age="0" femaleP="false" X="72" Y="9"/> 
<Plant age="0" femaleP="false" X="76" Y="9"/> 
<Plant age="0" femaleP="false" X="80" Y="9"/> 
<Plant age="0" femaleP="false" X="84" Y="9"/> 



<Plant age="0" femaleP="false" X="88" Y="9"/> 
<Plant age="0" femaleP="false" X="92" Y="9"/> 
<Plant age="0" femaleP="false" X="96" Y="9"/> 
<Plant age="0" femaleP="false" X="100" Y="9"/> 
<Plant age="0" femaleP="false" X="4" Y="13"/> 
<Plant age="0" femaleP="false" X="8" Y="13"/> 
<Plant age="0" femaleP="false" X="12" Y="13"/> 
<Plant age="0" femaleP="false" X="16" Y="13"/> 
<Plant age="0" femaleP="false" X="20" Y="13"/> 
<Plant age="0" femaleP="false" X="24" Y="13"/> 
<Plant age="0" femaleP="false" X="28" Y="13"/> 
<Plant age="0" femaleP="false" X="32" Y="13"/> 
<Plant age="0" femaleP="false" X="36" Y="13"/> 
<Plant age="0" femaleP="false" X="40" Y="13"/> 
<Plant age="0" femaleP="false" X="44" Y="13"/> 
<Plant age="0" femaleP="false" X="48" Y="13"/> 
<Plant age="0" femaleP="false" X="52" Y="13"/> 
<Plant age="0" femaleP="false" X="56" Y="13"/> 
<Plant age="0" femaleP="false" X="60" Y="13"/> 
<Plant age="0" femaleP="false" X="64" Y="13"/> 
<Plant age="0" femaleP="false" X="68" Y="13"/> 
<Plant age="0" femaleP="false" X="72" Y="13"/> 
<Plant age="0" femaleP="false" X="76" Y="13"/> 
<Plant age="0" femaleP="false" X="80" Y="13"/> 
<Plant age="0" femaleP="false" X="84" Y="13"/> 
<Plant age="0" femaleP="false" X="88" Y="13"/> 
<Plant age="0" femaleP="false" X="92" Y="13"/> 
<Plant age="0" femaleP="false" X="96" Y="13"/> 
<Plant age="0" femaleP="false" X="100" Y="13"/> 
<Plant age="0" femaleP="false" X="4" Y="17"/> 
<Plant age="0" femaleP="false" X="8" Y="17"/> 
<Plant age="0" femaleP="false" X="12" Y="17"/> 
<Plant age="0" femaleP="false" X="16" Y="17"/> 
<Plant age="0" femaleP="false" X="20" Y="17"/> 
<Plant age="0" femaleP="false" X="24" Y="17"/> 
<Plant age="0" femaleP="false" X="28" Y="17"/> 
<Plant age="0" femaleP="false" X="32" Y="17"/> 
<Plant age="0" femaleP="false" X="36" Y="17"/> 
<Plant age="0" femaleP="false" X="40" Y="17"/> 
<Plant age="0" femaleP="false" X="44" Y="17"/> 
<Plant age="0" femaleP="false" X="48" Y="17"/> 
<Plant age="0" femaleP="false" X="52" Y="17"/> 
<Plant age="0" femaleP="false" X="56" Y="17"/> 
<Plant age="0" femaleP="false" X="60" Y="17"/> 
<Plant age="0" femaleP="false" X="64" Y="17"/> 
<Plant age="0" femaleP="false" X="68" Y="17"/> 
<Plant age="0" femaleP="false" X="72" Y="17"/> 
<Plant age="0" femaleP="false" X="76" Y="17"/> 
<Plant age="0" femaleP="false" X="80" Y="17"/> 
<Plant age="0" femaleP="false" X="84" Y="17"/> 
<Plant age="0" femaleP="false" X="88" Y="17"/> 



<Plant age="0" femaleP="false" X="92" Y="17"/> 
<Plant age="0" femaleP="false" X="96" Y="17"/> 
<Plant age="0" femaleP="false" X="100" Y="17"/> 
</Initial_Population> 
<FoundersF value ="0.26"/> 
 
b) 
<LOCI  number_loci ="12"> 
<locus> 
<functionpoint x="0.001" y="0"/> 
<functionpoint x="0.001" y="1"/> 
<functionpoint x="0.001" y="2"/> 
<functionpoint x="0.003" y="3"/> 
<functionpoint x="0.003" y="4"/> 
<functionpoint x="0.005" y="5"/> 
<functionpoint x="0.007" y="6"/> 
<functionpoint x="0.007" y="7"/> 
<functionpoint x="0.009" y="8"/> 
<functionpoint x="0.012" y="9"/> 
<functionpoint x="0.013" y="10"/> 
<functionpoint x="0.014" y="11"/> 
<functionpoint x="0.017" y="12"/> 
<functionpoint x="0.02" y="13"/> 
<functionpoint x="0.022" y="14"/> 
<functionpoint x="0.025" y="15"/> 
<functionpoint x="0.028" y="16"/> 
<functionpoint x="0.0551" y="17"/> 
<functionpoint x="0.1932" y="18"/> 
<functionpoint x="0.5636" y="19"/> 
</locus> 
<locus> 
<functionpoint x="0.001" y="0"/> 
<functionpoint x="0.001" y="1"/> 
<functionpoint x="0.001" y="2"/> 
<functionpoint x="0.001" y="3"/> 
<functionpoint x="0.001" y="4"/> 
<functionpoint x="0.001" y="5"/> 
<functionpoint x="0.001" y="6"/> 
<functionpoint x="0.001" y="7"/> 
<functionpoint x="0.003" y="8"/> 
<functionpoint x="0.003" y="9"/> 
<functionpoint x="0.003" y="10"/> 
<functionpoint x="0.003" y="11"/> 
<functionpoint x="0.003" y="12"/> 
<functionpoint x="0.003" y="13"/> 
<functionpoint x="0.004" y="14"/> 
<functionpoint x="0.004" y="15"/> 
<functionpoint x="0.005" y="16"/> 
<functionpoint x="0.005" y="17"/> 
<functionpoint x="0.005" y="18"/> 
<functionpoint x="0.007" y="19"/> 



<functionpoint x="0.007" y="20"/> 
<functionpoint x="0.007" y="21"/> 
<functionpoint x="0.008" y="22"/> 
<functionpoint x="0.008" y="23"/> 
<functionpoint x="0.008" y="24"/> 
<functionpoint x="0.009" y="25"/> 
<functionpoint x="0.009" y="25"/> 
<functionpoint x="0.013" y="26"/> 
<functionpoint x="0.013" y="27"/> 
<functionpoint x="0.014" y="28"/> 
<functionpoint x="0.014" y="29"/> 
<functionpoint x="0.016" y="30"/> 
<functionpoint x="0.017" y="31"/> 
<functionpoint x="0.02" y="32"/> 
<functionpoint x="0.021" y="33"/> 
<functionpoint x="0.022" y="34"/> 
<functionpoint x="0.028" y="35"/> 
<functionpoint x="0.053" y="36"/> 
<functionpoint x="0.066" y="37"/> 
<functionpoint x="0.107" y="38"/> 
<functionpoint x="0.484" y="39"/> 
</locus> 
<locus> 
<functionpoint x="0.001" y="0"/> 
<functionpoint x="0.001" y="1"/> 
<functionpoint x="0.001" y="2"/> 
<functionpoint x="0.001" y="3"/> 
<functionpoint x="0.001" y="4"/> 
<functionpoint x="0.001" y="5"/> 
<functionpoint x="0.001" y="6"/> 
<functionpoint x="0.001" y="7"/> 
<functionpoint x="0.001" y="8"/> 
<functionpoint x="0.003" y="9"/> 
<functionpoint x="0.003" y="10"/> 
<functionpoint x="0.003" y="11"/> 
<functionpoint x="0.003" y="12"/> 
<functionpoint x="0.003" y="13"/> 
<functionpoint x="0.003" y="14"/> 
<functionpoint x="0.004" y="15"/> 
<functionpoint x="0.004" y="16"/> 
<functionpoint x="0.004" y="17"/> 
<functionpoint x="0.005" y="18"/> 
<functionpoint x="0.008" y="19"/> 
<functionpoint x="0.008" y="20"/> 
<functionpoint x="0.009" y="21"/> 
<functionpoint x="0.012" y="22"/> 
<functionpoint x="0.0131" y="23"/> 
<functionpoint x="0.0131" y="24"/> 
<functionpoint x="0.0151" y="25"/> 
<functionpoint x="0.0181" y="26"/> 
<functionpoint x="0.0281" y="27"/> 



<functionpoint x="0.0552" y="28"/> 
<functionpoint x="0.0773" y="29"/> 
<functionpoint x="0.1335" y="30"/> 
<functionpoint x="0.5653" y="31"/> 
</locus> 
<locus> 
<functionpoint x="0.001" y="0"/> 
<functionpoint x="0.001" y="1"/> 
<functionpoint x="0.001" y="2"/> 
<functionpoint x="0.001" y="3"/> 
<functionpoint x="0.001" y="4"/> 
<functionpoint x="0.004" y="5"/> 
<functionpoint x="0.004" y="6"/> 
<functionpoint x="0.004" y="7"/> 
<functionpoint x="0.005" y="8"/> 
<functionpoint x="0.005" y="9"/> 
<functionpoint x="0.007" y="10"/> 
<functionpoint x="0.01" y="11"/> 
<functionpoint x="0.012" y="12"/> 
<functionpoint x="0.0181" y="13"/> 
<functionpoint x="0.0211" y="14"/> 
<functionpoint x="0.0271" y="15"/> 
<functionpoint x="0.0562" y="16"/> 
<functionpoint x="0.1043" y="17"/> 
<functionpoint x="0.2497" y="18"/> 
<functionpoint x="0.4674" y="19"/> 
</locus> 
<locus> 
<functionpoint x="0.001" y="0"/> 
<functionpoint x="0.001" y="1"/> 
<functionpoint x="0.001" y="2"/> 
<functionpoint x="0.001" y="3"/> 
<functionpoint x="0.001" y="4"/> 
<functionpoint x="0.001" y="5"/> 
<functionpoint x="0.001" y="6"/> 
<functionpoint x="0.001" y="7"/> 
<functionpoint x="0.003" y="8"/> 
<functionpoint x="0.003" y="9"/> 
<functionpoint x="0.004" y="10"/> 
<functionpoint x="0.004" y="11"/> 
<functionpoint x="0.005" y="12"/> 
<functionpoint x="0.005" y="13"/> 
<functionpoint x="0.005" y="14"/> 
<functionpoint x="0.007" y="15"/> 
<functionpoint x="0.008" y="16"/> 
<functionpoint x="0.008" y="17"/> 
<functionpoint x="0.012" y="18"/> 
<functionpoint x="0.0201" y="19"/> 
<functionpoint x="0.0271" y="20"/> 
<functionpoint x="0.0271" y="21"/> 
<functionpoint x="0.0281" y="22"/> 



<functionpoint x="0.0502" y="23"/> 
<functionpoint x="0.1334" y="24"/> 
<functionpoint x="0.1996" y="25"/> 
<functionpoint x="0.4423" y="26"/> 
</locus> 
<locus> 
<functionpoint x="0.001" y="0"/> 
<functionpoint x="0.001" y="1"/> 
<functionpoint x="0.001" y="2"/> 
<functionpoint x="0.001" y="3"/> 
<functionpoint x="0.001" y="4"/> 
<functionpoint x="0.001" y="5"/> 
<functionpoint x="0.001" y="6"/> 
<functionpoint x="0.003" y="7"/> 
<functionpoint x="0.007" y="8"/> 
<functionpoint x="0.008" y="9"/> 
<functionpoint x="0.008" y="10"/> 
<functionpoint x="0.015" y="11"/> 
<functionpoint x="0.019" y="12"/> 
<functionpoint x="0.0311" y="13"/> 
<functionpoint x="0.0872" y="14"/> 
<functionpoint x="0.8146" y="15"/> 
</locus> 
<locus> 
<functionpoint x="0.001" y="0"/> 
<functionpoint x="0.001" y="1"/> 
<functionpoint x="0.001" y="2"/> 
<functionpoint x="0.003" y="3"/> 
<functionpoint x="0.003" y="4"/> 
<functionpoint x="0.003" y="5"/> 
<functionpoint x="0.003" y="6"/> 
<functionpoint x="0.004" y="7"/> 
<functionpoint x="0.005" y="8"/> 
<functionpoint x="0.005" y="9"/> 
<functionpoint x="0.008" y="10"/> 
<functionpoint x="0.011" y="11"/> 
<functionpoint x="0.012" y="12"/> 
<functionpoint x="0.012" y="13"/> 
<functionpoint x="0.012" y="14"/> 
<functionpoint x="0.013" y="15"/> 
<functionpoint x="0.025" y="16"/> 
<functionpoint x="0.026" y="17"/> 
<functionpoint x="0.029" y="18"/> 
<functionpoint x="0.03" y="19"/> 
<functionpoint x="0.041" y="20"/> 
<functionpoint x="0.0659" y="21"/> 
<functionpoint x="0.0909" y="22"/> 
<functionpoint x="0.0949" y="23"/> 
<functionpoint x="0.5005" y="24"/> 
</locus> 
<locus> 



<functionpoint x="0.001" y="0"/> 
<functionpoint x="0.001" y="1"/> 
<functionpoint x="0.001" y="2"/> 
<functionpoint x="0.001" y="3"/> 
<functionpoint x="0.003" y="4"/> 
<functionpoint x="0.004" y="5"/> 
<functionpoint x="0.005" y="6"/> 
<functionpoint x="0.007" y="7"/> 
<functionpoint x="0.008" y="8"/> 
<functionpoint x="0.008" y="9"/> 
<functionpoint x="0.009" y="10"/> 
<functionpoint x="0.012" y="11"/> 
<functionpoint x="0.015" y="12"/> 
<functionpoint x="0.016" y="13"/> 
<functionpoint x="0.0281" y="14"/> 
<functionpoint x="0.0291" y="15"/> 
<functionpoint x="0.0331" y="16"/> 
<functionpoint x="0.0331" y="17"/> 
<functionpoint x="0.0411" y="18"/> 
<functionpoint x="0.1414" y="19"/> 
<functionpoint x="0.2377" y="20"/> 
<functionpoint x="0.3651" y="21"/> 
</locus> 
<locus> 
<functionpoint x="0.001" y="0"/> 
<functionpoint x="0.001" y="1"/> 
<functionpoint x="0.001" y="2"/> 
<functionpoint x="0.001" y="3"/> 
<functionpoint x="0.001" y="4"/> 
<functionpoint x="0.003" y="5"/> 
<functionpoint x="0.004" y="6"/> 
<functionpoint x="0.005" y="7"/> 
<functionpoint x="0.007" y="8"/> 
<functionpoint x="0.009" y="9"/> 
<functionpoint x="0.009" y="10"/> 
<functionpoint x="0.013" y="11"/> 
<functionpoint x="0.013" y="12"/> 
<functionpoint x="0.015" y="13"/> 
<functionpoint x="0.015" y="14"/> 
<functionpoint x="0.016" y="15"/> 
<functionpoint x="0.019" y="16"/> 
<functionpoint x="0.025" y="17"/> 
<functionpoint x="0.027" y="18"/> 
<functionpoint x="0.04" y="19"/> 
<functionpoint x="0.057" y="19"/> 
<functionpoint x="0.061" y="20"/> 
<functionpoint x="0.183" y="21"/> 
<functionpoint x="0.207" y="22"/> 
<functionpoint x="0.267" y="23"/> 
</locus> 
<locus> 



<functionpoint x="0.003" y="0"/> 
<functionpoint x="0.003" y="1"/> 
<functionpoint x="0.003" y="2"/> 
<functionpoint x="0.004" y="3"/> 
<functionpoint x="0.005" y="4"/> 
<functionpoint x="0.007" y="5"/> 
<functionpoint x="0.012" y="6"/> 
<functionpoint x="0.013" y="7"/> 
<functionpoint x="0.015" y="8"/> 
<functionpoint x="0.0309" y="9"/> 
<functionpoint x="0.1946" y="10"/> 
<functionpoint x="0.7096" y="11"/> 
</locus> 
<locus> 
<functionpoint x="0.001" y="0"/> 
<functionpoint x="0.001" y="1"/> 
<functionpoint x="0.001" y="2"/> 
<functionpoint x="0.003" y="3"/> 
<functionpoint x="0.003" y="4"/> 
<functionpoint x="0.003" y="5"/> 
<functionpoint x="0.004" y="6"/> 
<functionpoint x="0.004" y="7"/> 
<functionpoint x="0.004" y="8"/> 
<functionpoint x="0.006" y="9"/> 
<functionpoint x="0.009" y="10"/> 
<functionpoint x="0.011" y="11"/> 
<functionpoint x="0.013" y="12"/> 
<functionpoint x="0.013" y="13"/> 
<functionpoint x="0.013" y="14"/> 
<functionpoint x="0.013" y="15"/> 
<functionpoint x="0.019" y="16"/> 
<functionpoint x="0.019" y="17"/> 
<functionpoint x="0.021" y="18"/> 
<functionpoint x="0.0271" y="19"/> 
<functionpoint x="0.0271" y="20"/> 
<functionpoint x="0.0341" y="21"/> 
<functionpoint x="0.0371" y="22"/> 
<functionpoint x="0.0411" y="23"/> 
<functionpoint x="0.0411" y="24"/> 
<functionpoint x="0.0471" y="25"/> 
<functionpoint x="0.0541" y="26"/> 
<functionpoint x="0.0591" y="27"/> 
<functionpoint x="0.0691" y="28"/> 
<functionpoint x="0.0701" y="29"/> 
<functionpoint x="0.1403" y="30"/> 
<functionpoint x="0.1914" y="31"/> 
</locus> 
<locus> 
<functionpoint x="0.001" y="0"/> 
<functionpoint x="0.001" y="1"/> 
<functionpoint x="0.001" y="2"/> 



<functionpoint x="0.001" y="3"/> 
<functionpoint x="0.001" y="4"/> 
<functionpoint x="0.001" y="5"/> 
<functionpoint x="0.003" y="6"/> 
<functionpoint x="0.004" y="7"/> 
<functionpoint x="0.005" y="8"/> 
<functionpoint x="0.012" y="9"/> 
<functionpoint x="0.015" y="10"/> 
<functionpoint x="0.0181" y="11"/> 
<functionpoint x="0.0271" y="12"/> 
<functionpoint x="0.0271" y="13"/> 
<functionpoint x="0.0381" y="14"/> 
<functionpoint x="0.0411" y="15"/> 
<functionpoint x="0.0662" y="16"/> 
<functionpoint x="0.0893" y="17"/> 
<functionpoint x="0.1474" y="18"/> 
<functionpoint x="0.1585" y="19"/> 
<functionpoint x="0.1595" y="20"/> 
<functionpoint x="0.1825" y="21"/> 
</locus> 
</LOCI> 
<Dioecious value ="false"/> 
 
<Reproduction_Rate> 
<functionpoint x="0" y="0"/> 
<functionpoint x="1" y="0"/> 
<functionpoint x="9" y="0"/> 
<functionpoint x="10" y="10"/> 
<functionpoint x="11" y="0"/> 
<functionpoint x="19" y="0"/> 
<functionpoint x="20" y="10"/> 
<functionpoint x="21" y="0"/> 
<functionpoint x="24" y="0"/> 
<functionpoint x="25" y="50"/> 
<functionpoint x="26" y="0"/> 
<functionpoint x="29" y="0"/> 
<functionpoint x="30" y="10"/> 
<functionpoint x="31" y="0"/> 
<functionpoint x="39" y="0"/> 
<functionpoint x="40" y="10"/> 
<functionpoint x="41" y="0"/> 
<functionpoint x="49" y="0"/> 
<functionpoint x="50" y="50"/> 
<functionpoint x="51" y="0"/> 
<functionpoint x="59" y="0"/> 
<functionpoint x="60" y="10"/> 
<functionpoint x="61" y="0"/> 
<functionpoint x="69" y="0"/> 
<functionpoint x="70" y="10"/> 
<functionpoint x="71" y="0"/> 
<functionpoint x="74" y="0"/> 



<functionpoint x="75" y="50"/> 
<functionpoint x="76" y="0"/> 
<functionpoint x="79" y="0"/> 
<functionpoint x="80" y="10"/> 
<functionpoint x="81" y="0"/> 
<functionpoint x="89" y="0"/> 
<functionpoint x="90" y="50"/> 
<functionpoint x="91" y="0"/> 
<functionpoint x="100" y="0"/> 
<functionpoint x="110" y="0"/> 
</Reproduction_Rate> 
 
<Offspring_Distribution method="bracket"/> 
 
<Pollen_Rate> 
<functionpoint x="0" y="0"/> 
<functionpoint x="1" y="0"/> 
<functionpoint x="3" y="1"/> 
<functionpoint x="7" y="1"/> 
<functionpoint x="8" y="1"/> 
<functionpoint x="10" y="1"/> 
<functionpoint x="75" y="1"/> 
<functionpoint x="90" y="1"/> 
<functionpoint x="100" y="0"/> 
<functionpoint x="110" y="0"/> 
</Pollen_Rate> 
 
<Mortality_Rate> 
<functionpoint x="0" y="0"/> 
<functionpoint x="1" y="0.25"/> 
<functionpoint x="2" y="0.1"/> 
<functionpoint x="3" y="0.1"/> 
<functionpoint x="4" y="0.01"/> 
<functionpoint x="5" y="0"/> 
<functionpoint x="50" y="0.1"/> 
<functionpoint x="51" y="0"/> 
<functionpoint x="75" y="0.1"/> 
<functionpoint x="76" y="0"/> 
<functionpoint x="85" y="0.1"/> 
<functionpoint x="86" y="0"/> 
<functionpoint x="90" y="0.1"/> 
<functionpoint x="91" y="0"/> 
<functionpoint x="95" y="0.14"/> 
<functionpoint x="100" y="1"/> 
<functionpoint x="110" y="1"/> 
</Mortality_Rate> 
 
<Selfing_Rate value ="0.359"/> 
 
<RandomMating value="true"/> 
<Fruit_Distance value ="0.0"/> 



 
<Dispersal_Distribution> 
<functionpoint x="0" y="0"/> 
<functionpoint x="1" y="0.8"/> 
<functionpoint x="2" y="0.9"/> 
<functionpoint x="3" y="0.95"/> 
<functionpoint x="4" y="0.97"/> 
<functionpoint x="5" y="0.99"/> 
<functionpoint x="6" y="1"/> 
</Dispersal_Distribution> 
<Pollen_Distances> 
<SampledFunction> 
<functionpoint x="0" y="2"/> 
<functionpoint x="1" y="5"/> 
<functionpoint x="2" y="15"/> 
<functionpoint x="3" y="20"/> 
<functionpoint x="4" y="50"/> 
<functionpoint x="5" y="100"/> 
</SampledFunction></Pollen_Distances> 
<Pollen_Distance_Probabilities> 
<functionpoint x="0.01" y="5"/> 
<functionpoint x="0.01" y="6"/> 
<functionpoint x="0.03" y="4"/> 
<functionpoint x="0.05" y="3"/> 
<functionpoint x="0.1" y="2"/> 
<functionpoint x="0.2" y="1"/> 
<functionpoint x="0.6" y="0"/> 
</Pollen_Distance_Probabilities> 
<Region XL="0" YL="0" XH="2,000" YH="2,000" > 
 
</Region> 
<SummaryRegions> 
</SummaryRegions> 
<Number_Generations value ="50"/> 
<Number_Runs value ="10"/> 
<Initial_Population> 
<Plant age="0" femaleP="false" X="4" Y="5"/> 
<Plant age="0" femaleP="false" X="8" Y="5"/> 
<Plant age="0" femaleP="false" X="12" Y="5"/> 
<Plant age="0" femaleP="false" X="16" Y="5"/> 
<Plant age="0" femaleP="false" X="20" Y="5"/> 
<Plant age="0" femaleP="false" X="24" Y="5"/> 
<Plant age="0" femaleP="false" X="28" Y="5"/> 
<Plant age="0" femaleP="false" X="32" Y="5"/> 
<Plant age="0" femaleP="false" X="36" Y="5"/> 
<Plant age="0" femaleP="false" X="40" Y="5"/> 
<Plant age="0" femaleP="false" X="44" Y="5"/> 
<Plant age="0" femaleP="false" X="48" Y="5"/> 
<Plant age="0" femaleP="false" X="52" Y="5"/> 
<Plant age="0" femaleP="false" X="56" Y="5"/> 
<Plant age="0" femaleP="false" X="60" Y="5"/> 



<Plant age="0" femaleP="false" X="64" Y="5"/> 
<Plant age="0" femaleP="false" X="68" Y="5"/> 
<Plant age="0" femaleP="false" X="72" Y="5"/> 
<Plant age="0" femaleP="false" X="76" Y="5"/> 
<Plant age="0" femaleP="false" X="80" Y="5"/> 
<Plant age="0" femaleP="false" X="84" Y="5"/> 
<Plant age="0" femaleP="false" X="88" Y="5"/> 
<Plant age="0" femaleP="false" X="92" Y="5"/> 
<Plant age="0" femaleP="false" X="96" Y="5"/> 
<Plant age="0" femaleP="false" X="100" Y="5"/> 
<Plant age="0" femaleP="false" X="4" Y="9"/> 
<Plant age="0" femaleP="false" X="8" Y="9"/> 
<Plant age="0" femaleP="false" X="12" Y="9"/> 
<Plant age="0" femaleP="false" X="16" Y="9"/> 
<Plant age="0" femaleP="false" X="20" Y="9"/> 
<Plant age="0" femaleP="false" X="24" Y="9"/> 
<Plant age="0" femaleP="false" X="28" Y="9"/> 
<Plant age="0" femaleP="false" X="32" Y="9"/> 
<Plant age="0" femaleP="false" X="36" Y="9"/> 
<Plant age="0" femaleP="false" X="40" Y="9"/> 
<Plant age="0" femaleP="false" X="44" Y="9"/> 
<Plant age="0" femaleP="false" X="48" Y="9"/> 
<Plant age="0" femaleP="false" X="52" Y="9"/> 
<Plant age="0" femaleP="false" X="56" Y="9"/> 
<Plant age="0" femaleP="false" X="60" Y="9"/> 
<Plant age="0" femaleP="false" X="64" Y="9"/> 
<Plant age="0" femaleP="false" X="68" Y="9"/> 
<Plant age="0" femaleP="false" X="72" Y="9"/> 
<Plant age="0" femaleP="false" X="76" Y="9"/> 
<Plant age="0" femaleP="false" X="80" Y="9"/> 
<Plant age="0" femaleP="false" X="84" Y="9"/> 
<Plant age="0" femaleP="false" X="88" Y="9"/> 
<Plant age="0" femaleP="false" X="92" Y="9"/> 
<Plant age="0" femaleP="false" X="96" Y="9"/> 
<Plant age="0" femaleP="false" X="100" Y="9"/> 
<Plant age="0" femaleP="false" X="4" Y="13"/> 
<Plant age="0" femaleP="false" X="8" Y="13"/> 
<Plant age="0" femaleP="false" X="12" Y="13"/> 
<Plant age="0" femaleP="false" X="16" Y="13"/> 
<Plant age="0" femaleP="false" X="20" Y="13"/> 
<Plant age="0" femaleP="false" X="24" Y="13"/> 
<Plant age="0" femaleP="false" X="28" Y="13"/> 
<Plant age="0" femaleP="false" X="32" Y="13"/> 
<Plant age="0" femaleP="false" X="36" Y="13"/> 
<Plant age="0" femaleP="false" X="40" Y="13"/> 
<Plant age="0" femaleP="false" X="44" Y="13"/> 
<Plant age="0" femaleP="false" X="48" Y="13"/> 
<Plant age="0" femaleP="false" X="52" Y="13"/> 
<Plant age="0" femaleP="false" X="56" Y="13"/> 
<Plant age="0" femaleP="false" X="60" Y="13"/> 
<Plant age="0" femaleP="false" X="64" Y="13"/> 



<Plant age="0" femaleP="false" X="68" Y="13"/> 
<Plant age="0" femaleP="false" X="72" Y="13"/> 
<Plant age="0" femaleP="false" X="76" Y="13"/> 
<Plant age="0" femaleP="false" X="80" Y="13"/> 
<Plant age="0" femaleP="false" X="84" Y="13"/> 
<Plant age="0" femaleP="false" X="88" Y="13"/> 
<Plant age="0" femaleP="false" X="92" Y="13"/> 
<Plant age="0" femaleP="false" X="96" Y="13"/> 
<Plant age="0" femaleP="false" X="100" Y="13"/> 
<Plant age="0" femaleP="false" X="4" Y="17"/> 
<Plant age="0" femaleP="false" X="8" Y="17"/> 
<Plant age="0" femaleP="false" X="12" Y="17"/> 
<Plant age="0" femaleP="false" X="16" Y="17"/> 
<Plant age="0" femaleP="false" X="20" Y="17"/> 
<Plant age="0" femaleP="false" X="24" Y="17"/> 
<Plant age="0" femaleP="false" X="28" Y="17"/> 
<Plant age="0" femaleP="false" X="32" Y="17"/> 
<Plant age="0" femaleP="false" X="36" Y="17"/> 
<Plant age="0" femaleP="false" X="40" Y="17"/> 
<Plant age="0" femaleP="false" X="44" Y="17"/> 
<Plant age="0" femaleP="false" X="48" Y="17"/> 
<Plant age="0" femaleP="false" X="52" Y="17"/> 
<Plant age="0" femaleP="false" X="56" Y="17"/> 
<Plant age="0" femaleP="false" X="60" Y="17"/> 
<Plant age="0" femaleP="false" X="64" Y="17"/> 
<Plant age="0" femaleP="false" X="68" Y="17"/> 
<Plant age="0" femaleP="false" X="72" Y="17"/> 
<Plant age="0" femaleP="false" X="76" Y="17"/> 
<Plant age="0" femaleP="false" X="80" Y="17"/> 
<Plant age="0" femaleP="false" X="84" Y="17"/> 
<Plant age="0" femaleP="false" X="88" Y="17"/> 
<Plant age="0" femaleP="false" X="92" Y="17"/> 
<Plant age="0" femaleP="false" X="96" Y="17"/> 
<Plant age="0" femaleP="false" X="100" Y="17"/> 
</Initial_Population> 
<FoundersF value ="0.359"/> 
 
c) 
<LOCI  number_loci ="12"> 
<locus> 
<functionpoint x="0.0013" y="0"/> 
<functionpoint x="0.0013" y="1"/> 
<functionpoint x="0.0013" y="2"/> 
<functionpoint x="0.0013" y="3"/> 
<functionpoint x="0.0013" y="4"/> 
<functionpoint x="0.0013" y="5"/> 
<functionpoint x="0.0013" y="6"/> 
<functionpoint x="0.0026" y="7"/> 
<functionpoint x="0.0026" y="8"/> 
<functionpoint x="0.0026" y="9"/> 
<functionpoint x="0.0026" y="10"/> 



<functionpoint x="0.0026" y="11"/> 
<functionpoint x="0.0026" y="12"/> 
<functionpoint x="0.004" y="13"/> 
<functionpoint x="0.004" y="14"/> 
<functionpoint x="0.004" y="15"/> 
<functionpoint x="0.0053" y="16"/> 
<functionpoint x="0.0053" y="17"/> 
<functionpoint x="0.0066" y="18"/> 
<functionpoint x="0.0079" y="19"/> 
<functionpoint x="0.0093" y="20"/> 
<functionpoint x="0.0106" y="21"/> 
<functionpoint x="0.0132" y="22"/> 
<functionpoint x="0.0145" y="23"/> 
<functionpoint x="0.0159" y="24"/> 
<functionpoint x="0.0172" y="25"/> 
<functionpoint x="0.0185" y="26"/> 
<functionpoint x="0.0265" y="27"/> 
<functionpoint x="0.041" y="28"/> 
<functionpoint x="0.041" y="29"/> 
<functionpoint x="0.0423" y="30"/> 
<functionpoint x="0.045" y="31"/> 
<functionpoint x="0.0489" y="32"/> 
<functionpoint x="0.0556" y="33"/> 
<functionpoint x="0.0648" y="34"/> 
<functionpoint x="0.1018" y="35"/> 
<functionpoint x="0.1402" y="36"/> 
<functionpoint x="0.2315" y="37"/> 
</locus> 
<locus> 
<functionpoint x="0.0026" y="0"/> 
<functionpoint x="0.0052" y="1"/> 
<functionpoint x="0.0078" y="2"/> 
<functionpoint x="0.0104" y="3"/> 
<functionpoint x="0.0117" y="4"/> 
<functionpoint x="0.0156" y="5"/> 
<functionpoint x="0.0221" y="6"/> 
<functionpoint x="0.0234" y="7"/> 
<functionpoint x="0.0364" y="8"/> 
<functionpoint x="0.0675" y="9"/> 
<functionpoint x="0.0766" y="10"/> 
<functionpoint x="0.0805" y="11"/> 
<functionpoint x="0.0883" y="12"/> 
<functionpoint x="0.1766" y="13"/> 
<functionpoint x="0.3753" y="14"/> 
</locus> 
<locus> 
<functionpoint x="0.0013" y="0"/> 
<functionpoint x="0.0026" y="1"/> 
<functionpoint x="0.0026" y="2"/> 
<functionpoint x="0.0026" y="3"/> 
<functionpoint x="0.0026" y="4"/> 



<functionpoint x="0.0039" y="5"/> 
<functionpoint x="0.0039" y="6"/> 
<functionpoint x="0.0142" y="7"/> 
<functionpoint x="0.0167" y="8"/> 
<functionpoint x="0.0167" y="9"/> 
<functionpoint x="0.018" y="10"/> 
<functionpoint x="0.0193" y="11"/> 
<functionpoint x="0.0219" y="12"/> 
<functionpoint x="0.0296" y="13"/> 
<functionpoint x="0.0335" y="14"/> 
<functionpoint x="0.0451" y="15"/> 
<functionpoint x="0.0683" y="16"/> 
<functionpoint x="0.0799" y="17"/> 
<functionpoint x="0.1843" y="18"/> 
<functionpoint x="0.1907" y="19"/> 
<functionpoint x="0.2423" y="20"/> 
</locus> 
<locus> 
<functionpoint x="0.0013" y="0"/> 
<functionpoint x="0.0013" y="1"/> 
<functionpoint x="0.0013" y="2"/> 
<functionpoint x="0.0013" y="3"/> 
<functionpoint x="0.0027" y="4"/> 
<functionpoint x="0.0027" y="5"/> 
<functionpoint x="0.0027" y="6"/> 
<functionpoint x="0.004" y="7"/> 
<functionpoint x="0.0053" y="8"/> 
<functionpoint x="0.0094" y="9"/> 
<functionpoint x="0.0094" y="10"/> 
<functionpoint x="0.0107" y="11"/> 
<functionpoint x="0.012" y="12"/> 
<functionpoint x="0.0147" y="13"/> 
<functionpoint x="0.0174" y="14"/> 
<functionpoint x="0.0307" y="15"/> 
<functionpoint x="0.0508" y="16"/> 
<functionpoint x="0.0615" y="17"/> 
<functionpoint x="0.1003" y="18"/> 
<functionpoint x="0.111" y="19"/> 
<functionpoint x="0.5495" y="20"/> 
</locus> 
<locus> 
<functionpoint x="0.0013" y="0"/> 
<functionpoint x="0.0013" y="1"/> 
<functionpoint x="0.0013" y="2"/> 
<functionpoint x="0.0013" y="3"/> 
<functionpoint x="0.0013" y="4"/> 
<functionpoint x="0.0013" y="5"/> 
<functionpoint x="0.0039" y="6"/> 
<functionpoint x="0.0051" y="7"/> 
<functionpoint x="0.0051" y="8"/> 
<functionpoint x="0.009" y="9"/> 



<functionpoint x="0.0103" y="10"/> 
<functionpoint x="0.0129" y="11"/> 
<functionpoint x="0.0271" y="12"/> 
<functionpoint x="0.0361" y="13"/> 
<functionpoint x="0.049" y="14"/> 
<functionpoint x="0.0515" y="15"/> 
<functionpoint x="0.0709" y="16"/> 
<functionpoint x="0.1598" y="17"/> 
<functionpoint x="0.5515" y="18"/> 
</locus> 
<locus> 
<functionpoint x="0.0013" y="0"/> 
<functionpoint x="0.0013" y="1"/> 
<functionpoint x="0.0013" y="2"/> 
<functionpoint x="0.0026" y="3"/> 
<functionpoint x="0.0026" y="4"/> 
<functionpoint x="0.0026" y="5"/> 
<functionpoint x="0.0039" y="6"/> 
<functionpoint x="0.0065" y="7"/> 
<functionpoint x="0.0065" y="8"/> 
<functionpoint x="0.0078" y="9"/> 
<functionpoint x="0.0078" y="10"/> 
<functionpoint x="0.0078" y="11"/> 
<functionpoint x="0.009" y="12"/> 
<functionpoint x="0.0116" y="13"/> 
<functionpoint x="0.0129" y="14"/> 
<functionpoint x="0.0155" y="15"/> 
<functionpoint x="0.0194" y="16"/> 
<functionpoint x="0.0258" y="17"/> 
<functionpoint x="0.0258" y="18"/> 
<functionpoint x="0.0284" y="19"/> 
<functionpoint x="0.0323" y="20"/> 
<functionpoint x="0.0452" y="21"/> 
<functionpoint x="0.0491" y="22"/> 
<functionpoint x="0.0711" y="23"/> 
<functionpoint x="0.0969" y="24"/> 
<functionpoint x="0.1486" y="25"/> 
<functionpoint x="0.3566" y="26"/> 
</locus> 
<locus> 
<functionpoint x="0.0052" y="0"/> 
<functionpoint x="0.0052" y="1"/> 
<functionpoint x="0.0118" y="2"/> 
<functionpoint x="0.1427" y="3"/> 
<functionpoint x="0.3717" y="4"/> 
<functionpoint x="0.4633" y="5"/> 
</locus> 
<locus> 
<functionpoint x="0.0026" y="0"/> 
<functionpoint x="0.0039" y="1"/> 
<functionpoint x="0.0052" y="2"/> 



<functionpoint x="0.0052" y="3"/> 
<functionpoint x="0.0064" y="4"/> 
<functionpoint x="0.009" y="5"/> 
<functionpoint x="0.009" y="6"/> 
<functionpoint x="0.0129" y="7"/> 
<functionpoint x="0.0168" y="8"/> 
<functionpoint x="0.0206" y="9"/> 
<functionpoint x="0.0206" y="10"/> 
<functionpoint x="0.0271" y="11"/> 
<functionpoint x="0.0361" y="12"/> 
<functionpoint x="0.0374" y="13"/> 
<functionpoint x="0.1186" y="14"/> 
<functionpoint x="0.1959" y="15"/> 
<functionpoint x="0.4729" y="16"/> 
</locus> 
<locus> 
<functionpoint x="0.0065" y="0"/> 
<functionpoint x="0.0091" y="1"/> 
<functionpoint x="0.013" y="2"/> 
<functionpoint x="0.0156" y="3"/> 
<functionpoint x="0.0247" y="4"/> 
<functionpoint x="0.0286" y="5"/> 
<functionpoint x="0.039" y="6"/> 
<functionpoint x="0.0468" y="7"/> 
<functionpoint x="0.0597" y="8"/> 
<functionpoint x="0.0649" y="9"/> 
<functionpoint x="0.0701" y="10"/> 
<functionpoint x="0.0779" y="11"/> 
<functionpoint x="0.2013" y="12"/> 
<functionpoint x="0.3429" y="13"/> 
</locus> 
<locus> 
<functionpoint x="0.0013" y="0"/> 
<functionpoint x="0.0013" y="1"/> 
<functionpoint x="0.0013" y="2"/> 
<functionpoint x="0.0013" y="3"/> 
<functionpoint x="0.0013" y="4"/> 
<functionpoint x="0.0026" y="5"/> 
<functionpoint x="0.0026" y="6"/> 
<functionpoint x="0.0026" y="7"/> 
<functionpoint x="0.0026" y="8"/> 
<functionpoint x="0.0026" y="9"/> 
<functionpoint x="0.0039" y="10"/> 
<functionpoint x="0.0039" y="11"/> 
<functionpoint x="0.0039" y="12"/> 
<functionpoint x="0.0039" y="13"/> 
<functionpoint x="0.0077" y="14"/> 
<functionpoint x="0.0103" y="15"/> 
<functionpoint x="0.0116" y="16"/> 
<functionpoint x="0.0116" y="17"/> 
<functionpoint x="0.0155" y="18"/> 



<functionpoint x="0.0374" y="19"/> 
<functionpoint x="0.0464" y="20"/> 
<functionpoint x="0.0631" y="21"/> 
<functionpoint x="0.1057" y="22"/> 
<functionpoint x="0.1082" y="23"/> 
<functionpoint x="0.5477" y="24"/> 
</locus> 
<locus> 
<functionpoint x="0.0013" y="0"/> 
<functionpoint x="0.0013" y="1"/> 
<functionpoint x="0.0013" y="2"/> 
<functionpoint x="0.0013" y="3"/> 
<functionpoint x="0.0013" y="4"/> 
<functionpoint x="0.0054" y="5"/> 
<functionpoint x="0.0054" y="6"/> 
<functionpoint x="0.008" y="7"/> 
<functionpoint x="0.0121" y="8"/> 
<functionpoint x="0.0201" y="9"/> 
<functionpoint x="0.0268" y="10"/> 
<functionpoint x="0.0335" y="11"/> 
<functionpoint x="0.0416" y="12"/> 
<functionpoint x="0.0603" y="13"/> 
<functionpoint x="0.0684" y="14"/> 
<functionpoint x="0.1072" y="15"/> 
<functionpoint x="0.1408" y="16"/> 
<functionpoint x="0.1582" y="17"/> 
<functionpoint x="0.3056" y="18"/> 
</locus> 
<locus> 
<functionpoint x="0.0013" y="0"/> 
<functionpoint x="0.0026" y="1"/> 
<functionpoint x="0.0026" y="2"/> 
<functionpoint x="0.0026" y="3"/> 
<functionpoint x="0.0039" y="4"/> 
<functionpoint x="0.0039" y="5"/> 
<functionpoint x="0.0052" y="6"/> 
<functionpoint x="0.0091" y="7"/> 
<functionpoint x="0.0168" y="8"/> 
<functionpoint x="0.0181" y="9"/> 
<functionpoint x="0.0194" y="10"/> 
<functionpoint x="0.0324" y="11"/> 
<functionpoint x="0.0492" y="12"/> 
<functionpoint x="0.0505" y="13"/> 
<functionpoint x="0.1218" y="14"/> 
<functionpoint x="0.1334" y="15"/> 
<functionpoint x="0.1775" y="16"/> 
<functionpoint x="0.3497" y="17"/> 
</locus> 
</LOCI> 
<Dioecious value ="false"/> 
 



<Reproduction_Rate> 
<functionpoint x="0" y="0"/> 
<functionpoint x="1" y="0"/> 
<functionpoint x="3" y="1"/> 
<functionpoint x="7" y="2"/> 
<functionpoint x="8" y="2"/> 
<functionpoint x="10" y="3"/> 
<functionpoint x="15" y="3"/> 
<functionpoint x="16" y="2"/> 
<functionpoint x="19" y="1"/> 
<functionpoint x="20" y="0"/> 
<functionpoint x="25" y="0"/> 
</Reproduction_Rate> 
 
<Offspring_Distribution method="bracket"/> 
 
<Pollen_Rate> 
<functionpoint x="0" y="0"/> 
<functionpoint x="1" y="0"/> 
<functionpoint x="2" y="1"/> 
<functionpoint x="7" y="1"/> 
<functionpoint x="8" y="1"/> 
<functionpoint x="10" y="1"/> 
<functionpoint x="11" y="1"/> 
<functionpoint x="20" y="1"/> 
<functionpoint x="21" y="0"/> 
</Pollen_Rate> 
 
<Mortality_Rate> 
<functionpoint x="0" y="0"/> 
<functionpoint x="1" y="0.25"/> 
<functionpoint x="2" y="0.1"/> 
<functionpoint x="3" y="0.1"/> 
<functionpoint x="4" y="0.01"/> 
<functionpoint x="5" y="0.01"/> 
<functionpoint x="6" y="0.01"/> 
<functionpoint x="7" y="0.01"/> 
<functionpoint x="8" y="0.01"/> 
<functionpoint x="9" y="0.01"/> 
<functionpoint x="10" y="0.01"/> 
<functionpoint x="11" y="0.01"/> 
<functionpoint x="12" y="0.02"/> 
<functionpoint x="13" y="0"/> 
<functionpoint x="14" y="0.05"/> 
<functionpoint x="15" y="0.25"/> 
<functionpoint x="16" y="0.05"/> 
<functionpoint x="17" y="0.05"/> 
<functionpoint x="18" y="0.05"/> 
<functionpoint x="19" y="0.1"/> 
<functionpoint x="20" y="0.01"/> 
<functionpoint x="21" y="1"/> 



</Mortality_Rate> 
 
<Selfing_Rate value ="0.02"/> 
 
<RandomMating value="true"/> 
<Fruit_Distance value ="0.0"/> 
 
<Dispersal_Distribution> 
<functionpoint x="0" y="0"/> 
<functionpoint x="1" y="0.7"/> 
<functionpoint x="2" y="0.8"/> 
<functionpoint x="3" y="0.9"/> 
<functionpoint x="4" y="0.95"/> 
<functionpoint x="5" y="0.97"/> 
<functionpoint x="6" y="0.98"/> 
<functionpoint x="10" y="0.99"/> 
<functionpoint x="20" y="1"/> 
</Dispersal_Distribution> 
<Pollen_Distances> 
<SampledFunction> 
<functionpoint x="0" y="2"/> 
<functionpoint x="1" y="5"/> 
<functionpoint x="2" y="15"/> 
<functionpoint x="3" y="20"/> 
<functionpoint x="4" y="50"/> 
<functionpoint x="5" y="100"/> 
</SampledFunction></Pollen_Distances> 
<Pollen_Distance_Probabilities> 
<functionpoint x="0.01" y="5"/> 
<functionpoint x="0.01" y="6"/> 
<functionpoint x="0.03" y="4"/> 
<functionpoint x="0.05" y="3"/> 
<functionpoint x="0.1" y="2"/> 
<functionpoint x="0.2" y="1"/> 
<functionpoint x="0.6" y="0"/> 
</Pollen_Distance_Probabilities> 
<Region XL="0" YL="0" XH="2,000" YH="2,000" > 
 
</Region> 
<SummaryRegions> 
</SummaryRegions> 
<Number_Generations value ="50"/> 
<Number_Runs value ="10"/> 
<Initial_Population> 
<Plant age="0" femaleP="false" X="4" Y="5"/> 
<Plant age="0" femaleP="false" X="8" Y="5"/> 
<Plant age="0" femaleP="false" X="12" Y="5"/> 
<Plant age="0" femaleP="false" X="16" Y="5"/> 
<Plant age="0" femaleP="false" X="20" Y="5"/> 
<Plant age="0" femaleP="false" X="24" Y="5"/> 
<Plant age="0" femaleP="false" X="28" Y="5"/> 



<Plant age="0" femaleP="false" X="32" Y="5"/> 
<Plant age="0" femaleP="false" X="36" Y="5"/> 
<Plant age="0" femaleP="false" X="40" Y="5"/> 
<Plant age="0" femaleP="false" X="44" Y="5"/> 
<Plant age="0" femaleP="false" X="48" Y="5"/> 
<Plant age="0" femaleP="false" X="52" Y="5"/> 
<Plant age="0" femaleP="false" X="56" Y="5"/> 
<Plant age="0" femaleP="false" X="60" Y="5"/> 
<Plant age="0" femaleP="false" X="64" Y="5"/> 
<Plant age="0" femaleP="false" X="68" Y="5"/> 
<Plant age="0" femaleP="false" X="72" Y="5"/> 
<Plant age="0" femaleP="false" X="76" Y="5"/> 
<Plant age="0" femaleP="false" X="80" Y="5"/> 
<Plant age="0" femaleP="false" X="84" Y="5"/> 
<Plant age="0" femaleP="false" X="88" Y="5"/> 
<Plant age="0" femaleP="false" X="92" Y="5"/> 
<Plant age="0" femaleP="false" X="96" Y="5"/> 
<Plant age="0" femaleP="false" X="100" Y="5"/> 
<Plant age="0" femaleP="false" X="4" Y="9"/> 
<Plant age="0" femaleP="false" X="8" Y="9"/> 
<Plant age="0" femaleP="false" X="12" Y="9"/> 
<Plant age="0" femaleP="false" X="16" Y="9"/> 
<Plant age="0" femaleP="false" X="20" Y="9"/> 
<Plant age="0" femaleP="false" X="24" Y="9"/> 
<Plant age="0" femaleP="false" X="28" Y="9"/> 
<Plant age="0" femaleP="false" X="32" Y="9"/> 
<Plant age="0" femaleP="false" X="36" Y="9"/> 
<Plant age="0" femaleP="false" X="40" Y="9"/> 
<Plant age="0" femaleP="false" X="44" Y="9"/> 
<Plant age="0" femaleP="false" X="48" Y="9"/> 
<Plant age="0" femaleP="false" X="52" Y="9"/> 
<Plant age="0" femaleP="false" X="56" Y="9"/> 
<Plant age="0" femaleP="false" X="60" Y="9"/> 
<Plant age="0" femaleP="false" X="64" Y="9"/> 
<Plant age="0" femaleP="false" X="68" Y="9"/> 
<Plant age="0" femaleP="false" X="72" Y="9"/> 
<Plant age="0" femaleP="false" X="76" Y="9"/> 
<Plant age="0" femaleP="false" X="80" Y="9"/> 
<Plant age="0" femaleP="false" X="84" Y="9"/> 
<Plant age="0" femaleP="false" X="88" Y="9"/> 
<Plant age="0" femaleP="false" X="92" Y="9"/> 
<Plant age="0" femaleP="false" X="96" Y="9"/> 
<Plant age="0" femaleP="false" X="100" Y="9"/> 
<Plant age="0" femaleP="false" X="4" Y="13"/> 
<Plant age="0" femaleP="false" X="8" Y="13"/> 
<Plant age="0" femaleP="false" X="12" Y="13"/> 
<Plant age="0" femaleP="false" X="16" Y="13"/> 
<Plant age="0" femaleP="false" X="20" Y="13"/> 
<Plant age="0" femaleP="false" X="24" Y="13"/> 
<Plant age="0" femaleP="false" X="28" Y="13"/> 
<Plant age="0" femaleP="false" X="32" Y="13"/> 



<Plant age="0" femaleP="false" X="36" Y="13"/> 
<Plant age="0" femaleP="false" X="40" Y="13"/> 
<Plant age="0" femaleP="false" X="44" Y="13"/> 
<Plant age="0" femaleP="false" X="48" Y="13"/> 
<Plant age="0" femaleP="false" X="52" Y="13"/> 
<Plant age="0" femaleP="false" X="56" Y="13"/> 
<Plant age="0" femaleP="false" X="60" Y="13"/> 
<Plant age="0" femaleP="false" X="64" Y="13"/> 
<Plant age="0" femaleP="false" X="68" Y="13"/> 
<Plant age="0" femaleP="false" X="72" Y="13"/> 
<Plant age="0" femaleP="false" X="76" Y="13"/> 
<Plant age="0" femaleP="false" X="80" Y="13"/> 
<Plant age="0" femaleP="false" X="84" Y="13"/> 
<Plant age="0" femaleP="false" X="88" Y="13"/> 
<Plant age="0" femaleP="false" X="92" Y="13"/> 
<Plant age="0" femaleP="false" X="96" Y="13"/> 
<Plant age="0" femaleP="false" X="100" Y="13"/> 
<Plant age="0" femaleP="false" X="4" Y="17"/> 
<Plant age="0" femaleP="false" X="8" Y="17"/> 
<Plant age="0" femaleP="false" X="12" Y="17"/> 
<Plant age="0" femaleP="false" X="16" Y="17"/> 
<Plant age="0" femaleP="false" X="20" Y="17"/> 
<Plant age="0" femaleP="false" X="24" Y="17"/> 
<Plant age="0" femaleP="false" X="28" Y="17"/> 
<Plant age="0" femaleP="false" X="32" Y="17"/> 
<Plant age="0" femaleP="false" X="36" Y="17"/> 
<Plant age="0" femaleP="false" X="40" Y="17"/> 
<Plant age="0" femaleP="false" X="44" Y="17"/> 
<Plant age="0" femaleP="false" X="48" Y="17"/> 
<Plant age="0" femaleP="false" X="52" Y="17"/> 
<Plant age="0" femaleP="false" X="56" Y="17"/> 
<Plant age="0" femaleP="false" X="60" Y="17"/> 
<Plant age="0" femaleP="false" X="64" Y="17"/> 
<Plant age="0" femaleP="false" X="68" Y="17"/> 
<Plant age="0" femaleP="false" X="72" Y="17"/> 
<Plant age="0" femaleP="false" X="76" Y="17"/> 
<Plant age="0" femaleP="false" X="80" Y="17"/> 
<Plant age="0" femaleP="false" X="84" Y="17"/> 
<Plant age="0" femaleP="false" X="88" Y="17"/> 
<Plant age="0" femaleP="false" X="92" Y="17"/> 
<Plant age="0" femaleP="false" X="96" Y="17"/> 
<Plant age="0" femaleP="false" X="100" Y="17"/> 
</Initial_Population> 
<FoundersF value ="0.02"/> 
 
d) 
<LOCI  number_loci ="12"> 
<locus> 
<functionpoint x="0.003" y="0"/> 
<functionpoint x="0.003" y="1"/> 
<functionpoint x="0.015" y="2"/> 



<functionpoint x="0.1386" y="3"/> 
<functionpoint x="0.2353" y="4"/> 
<functionpoint x="0.004" y="5"/> 
<functionpoint x="0.003" y="6"/> 
<functionpoint x="0.0489" y="7"/> 
<functionpoint x="0.0179" y="8"/> 
<functionpoint x="0.1057" y="9"/> 
<functionpoint x="0.0927" y="10"/> 
<functionpoint x="0.003" y="11"/> 
<functionpoint x="0.0618" y="12"/> 
<functionpoint x="0.0429" y="13"/> 
<functionpoint x="0.0429" y="14"/> 
<functionpoint x="0.0359" y="15"/> 
<functionpoint x="0.0229" y="16"/> 
<functionpoint x="0.011" y="17"/> 
<functionpoint x="0.003" y="18"/> 
<functionpoint x="0.0349" y="19"/> 
<functionpoint x="0.001" y="20"/> 
<functionpoint x="0.0179" y="21"/> 
<functionpoint x="0.004" y="22"/> 
<functionpoint x="0.015" y="23"/> 
<functionpoint x="0.008" y="24"/> 
<functionpoint x="0.011" y="25"/> 
<functionpoint x="0.011" y="26"/> 
<functionpoint x="0.003" y="27"/> 
<functionpoint x="0.001" y="28"/> 
<functionpoint x="0.003" y="29"/> 
</locus> 
<locus> 
<functionpoint x="0.003" y="0"/> 
<functionpoint x="0.036" y="1"/> 
<functionpoint x="0.011" y="2"/> 
<functionpoint x="0.001" y="3"/> 
<functionpoint x="0.152" y="4"/> 
<functionpoint x="0.035" y="5"/> 
<functionpoint x="0.02" y="6"/> 
<functionpoint x="0.343" y="7"/> 
<functionpoint x="0.033" y="8"/> 
<functionpoint x="0.003" y="9"/> 
<functionpoint x="0.152" y="10"/> 
<functionpoint x="0.006" y="11"/> 
<functionpoint x="0.013" y="12"/> 
<functionpoint x="0.163" y="13"/> 
<functionpoint x="0.015" y="14"/> 
<functionpoint x="0.011" y="15"/> 
<functionpoint x="0.001" y="16"/> 
<functionpoint x="0.001" y="17"/> 
<functionpoint x="0.001" y="18"/> 
</locus> 
<locus> 
<functionpoint x="0.003" y="0"/> 



<functionpoint x="0.003" y="1"/> 
<functionpoint x="0.001" y="2"/> 
<functionpoint x="0.511" y="3"/> 
<functionpoint x="0.006" y="4"/> 
<functionpoint x="0.1497" y="5"/> 
<functionpoint x="0.006" y="6"/> 
<functionpoint x="0.0719" y="7"/> 
<functionpoint x="0.0269" y="8"/> 
<functionpoint x="0.0908" y="9"/> 
<functionpoint x="0.012" y="10"/> 
<functionpoint x="0.0399" y="11"/> 
<functionpoint x="0.022" y="12"/> 
<functionpoint x="0.024" y="13"/> 
<functionpoint x="0.001" y="14"/> 
<functionpoint x="0.003" y="15"/> 
<functionpoint x="0.004" y="16"/> 
<functionpoint x="0.022" y="17"/> 
<functionpoint x="0.003" y="18"/> 
</locus> 
<locus> 
<functionpoint x="0.003" y="0"/> 
<functionpoint x="0.003" y="1"/> 
<functionpoint x="0.016" y="2"/> 
<functionpoint x="0.019" y="3"/> 
<functionpoint x="0.015" y="4"/> 
<functionpoint x="0.066" y="5"/> 
<functionpoint x="0.156" y="6"/> 
<functionpoint x="0.006" y="7"/> 
<functionpoint x="0.139" y="8"/> 
<functionpoint x="0.22" y="9"/> 
<functionpoint x="0.081" y="10"/> 
<functionpoint x="0.241" y="11"/> 
<functionpoint x="0.005" y="12"/> 
<functionpoint x="0.011" y="13"/> 
<functionpoint x="0.001" y="14"/> 
<functionpoint x="0.001" y="15"/> 
<functionpoint x="0.013" y="16"/> 
<functionpoint x="0.004" y="17"/> 
</locus> 
<locus> 
<functionpoint x="0.003" y="0"/> 
<functionpoint x="0.003" y="1"/> 
<functionpoint x="0.004" y="2"/> 
<functionpoint x="0.003" y="3"/> 
<functionpoint x="0.006" y="4"/> 
<functionpoint x="0.0089" y="5"/> 
<functionpoint x="0.0109" y="6"/> 
<functionpoint x="0.0308" y="7"/> 
<functionpoint x="0.001" y="8"/> 
<functionpoint x="0.0179" y="9"/> 
<functionpoint x="0.0249" y="10"/> 



<functionpoint x="0.004" y="11"/> 
<functionpoint x="0.0338" y="12"/> 
<functionpoint x="0.0338" y="13"/> 
<functionpoint x="0.008" y="14"/> 
<functionpoint x="0.006" y="15"/> 
<functionpoint x="0.327" y="16"/> 
<functionpoint x="0.0149" y="17"/> 
<functionpoint x="0.0686" y="18"/> 
<functionpoint x="0.006" y="19"/> 
<functionpoint x="0.008" y="20"/> 
<functionpoint x="0.0388" y="21"/> 
<functionpoint x="0.0089" y="22"/> 
<functionpoint x="0.003" y="23"/> 
<functionpoint x="0.0288" y="24"/> 
<functionpoint x="0.0129" y="25"/> 
<functionpoint x="0.001" y="26"/> 
<functionpoint x="0.006" y="27"/> 
<functionpoint x="0.004" y="28"/> 
<functionpoint x="0.003" y="29"/> 
<functionpoint x="0.001" y="30"/> 
<functionpoint x="0.001" y="31"/> 
<functionpoint x="0.004" y="32"/> 
<functionpoint x="0.003" y="33"/> 
<functionpoint x="0.1382" y="34"/> 
<functionpoint x="0.0408" y="35"/> 
<functionpoint x="0.001" y="36"/> 
<functionpoint x="0.0378" y="37"/> 
<functionpoint x="0.0149" y="38"/> 
<functionpoint x="0.0129" y="39"/> 
<functionpoint x="0.0159" y="40"/> 
</locus> 
<locus> 
<functionpoint x="0.003" y="0"/> 
<functionpoint x="0.001" y="1"/> 
<functionpoint x="0.004" y="2"/> 
<functionpoint x="0.001" y="3"/> 
<functionpoint x="0.1279" y="4"/> 
<functionpoint x="0.009" y="5"/> 
<functionpoint x="0.034" y="6"/> 
<functionpoint x="0.04" y="7"/> 
<functionpoint x="0.1479" y="8"/> 
<functionpoint x="0.016" y="9"/> 
<functionpoint x="0.2108" y="10"/> 
<functionpoint x="0.0619" y="11"/> 
<functionpoint x="0.027" y="12"/> 
<functionpoint x="0.031" y="13"/> 
<functionpoint x="0.003" y="14"/> 
<functionpoint x="0.046" y="15"/> 
<functionpoint x="0.003" y="16"/> 
<functionpoint x="0.02" y="17"/> 
<functionpoint x="0.013" y="18"/> 



<functionpoint x="0.016" y="19"/> 
<functionpoint x="0.022" y="20"/> 
<functionpoint x="0.035" y="21"/> 
<functionpoint x="0.016" y="22"/> 
<functionpoint x="0.016" y="23"/> 
<functionpoint x="0.015" y="24"/> 
<functionpoint x="0.017" y="25"/> 
<functionpoint x="0.019" y="26"/> 
<functionpoint x="0.011" y="27"/> 
<functionpoint x="0.008" y="28"/> 
<functionpoint x="0.007" y="29"/> 
<functionpoint x="0.003" y="30"/> 
<functionpoint x="0.005" y="31"/> 
<functionpoint x="0.011" y="32"/> 
</locus> 
<locus> 
<functionpoint x="0.003" y="0"/> 
<functionpoint x="0.003" y="1"/> 
<functionpoint x="0.001" y="2"/> 
<functionpoint x="0.001" y="3"/> 
<functionpoint x="0.004" y="4"/> 
<functionpoint x="0.006" y="5"/> 
<functionpoint x="0.013" y="6"/> 
<functionpoint x="0.014" y="7"/> 
<functionpoint x="0.005" y="8"/> 
<functionpoint x="0.014" y="9"/> 
<functionpoint x="0.1107" y="10"/> 
<functionpoint x="0.009" y="11"/> 
<functionpoint x="0.2024" y="12"/> 
<functionpoint x="0.011" y="13"/> 
<functionpoint x="0.2054" y="14"/> 
<functionpoint x="0.003" y="15"/> 
<functionpoint x="0.0798" y="16"/> 
<functionpoint x="0.005" y="17"/> 
<functionpoint x="0.0728" y="18"/> 
<functionpoint x="0.004" y="19"/> 
<functionpoint x="0.0658" y="20"/> 
<functionpoint x="0.0379" y="21"/> 
<functionpoint x="0.003" y="22"/> 
<functionpoint x="0.0409" y="23"/> 
<functionpoint x="0.0299" y="24"/> 
<functionpoint x="0.0259" y="25"/> 
<functionpoint x="0.016" y="26"/> 
<functionpoint x="0.008" y="27"/> 
<functionpoint x="0.003" y="28"/> 
<functionpoint x="0.001" y="29"/> 
<functionpoint x="0.001" y="30"/> 
<functionpoint x="0.001" y="31"/> 
</locus> 
<locus> 
<functionpoint x="0.003" y="0"/> 



<functionpoint x="0.003" y="1"/> 
<functionpoint x="0.001" y="2"/> 
<functionpoint x="0.0229" y="3"/> 
<functionpoint x="0.0199" y="4"/> 
<functionpoint x="0.0179" y="5"/> 
<functionpoint x="0.001" y="6"/> 
<functionpoint x="0.003" y="7"/> 
<functionpoint x="0.01" y="8"/> 
<functionpoint x="0.1047" y="9"/> 
<functionpoint x="0.0289" y="10"/> 
<functionpoint x="0.001" y="11"/> 
<functionpoint x="0.0259" y="12"/> 
<functionpoint x="0.013" y="13"/> 
<functionpoint x="0.01" y="14"/> 
<functionpoint x="0.006" y="15"/> 
<functionpoint x="0.004" y="16"/> 
<functionpoint x="0.001" y="17"/> 
<functionpoint x="0.004" y="18"/> 
<functionpoint x="0.013" y="19"/> 
<functionpoint x="0.001" y="20"/> 
<functionpoint x="0.005" y="21"/> 
<functionpoint x="0.0189" y="22"/> 
<functionpoint x="0.0578" y="23"/> 
<functionpoint x="0.2792" y="24"/> 
<functionpoint x="0.0369" y="25"/> 
<functionpoint x="0.1057" y="26"/> 
<functionpoint x="0.003" y="27"/> 
<functionpoint x="0.0499" y="28"/> 
<functionpoint x="0.0209" y="29"/> 
<functionpoint x="0.0229" y="30"/> 
<functionpoint x="0.0249" y="31"/> 
<functionpoint x="0.0688" y="32"/> 
<functionpoint x="0.008" y="33"/> 
<functionpoint x="0.003" y="34"/> 
<functionpoint x="0.001" y="35"/> 
</locus> 
<locus> 
<functionpoint x="0.003" y="0"/> 
<functionpoint x="0.03" y="1"/> 
<functionpoint x="0.0699" y="2"/> 
<functionpoint x="0.0749" y="3"/> 
<functionpoint x="0.024" y="4"/> 
<functionpoint x="0.4006" y="5"/> 
<functionpoint x="0.009" y="6"/> 
<functionpoint x="0.1668" y="7"/> 
<functionpoint x="0.01" y="8"/> 
<functionpoint x="0.1798" y="9"/> 
<functionpoint x="0.01" y="10"/> 
<functionpoint x="0.008" y="11"/> 
<functionpoint x="0.005" y="12"/> 
<functionpoint x="0.003" y="13"/> 



<functionpoint x="0.001" y="14"/> 
<functionpoint x="0.001" y="15"/> 
<functionpoint x="0.001" y="16"/> 
<functionpoint x="0.003" y="17"/> 
</locus> 
<locus> 
<functionpoint x="0.003" y="0"/> 
<functionpoint x="0.001" y="1"/> 
<functionpoint x="0.003" y="2"/> 
<functionpoint x="0.0039" y="3"/> 
<functionpoint x="0.0059" y="4"/> 
<functionpoint x="0.0108" y="5"/> 
<functionpoint x="0.0128" y="6"/> 
<functionpoint x="0.003" y="7"/> 
<functionpoint x="0.0778" y="8"/> 
<functionpoint x="0.003" y="9"/> 
<functionpoint x="0.0089" y="10"/> 
<functionpoint x="0.3576" y="11"/> 
<functionpoint x="0.134" y="12"/> 
<functionpoint x="0.001" y="13"/> 
<functionpoint x="0.1261" y="14"/> 
<functionpoint x="0.001" y="15"/> 
<functionpoint x="0.1961" y="16"/> 
<functionpoint x="0.001" y="17"/> 
<functionpoint x="0.0276" y="18"/> 
<functionpoint x="0.0059" y="19"/> 
<functionpoint x="0.0128" y="20"/> 
<functionpoint x="0.0039" y="21"/> 
</locus> 
<locus> 
<functionpoint x="0.003" y="0"/> 
<functionpoint x="0.004" y="1"/> 
<functionpoint x="0.009" y="2"/> 
<functionpoint x="0.0149" y="3"/> 
<functionpoint x="0.0388" y="4"/> 
<functionpoint x="0.008" y="5"/> 
<functionpoint x="0.2092" y="6"/> 
<functionpoint x="0.0179" y="7"/> 
<functionpoint x="0.006" y="8"/> 
<functionpoint x="0.0199" y="9"/> 
<functionpoint x="0.0677" y="10"/> 
<functionpoint x="0.0159" y="11"/> 
<functionpoint x="0.0976" y="12"/> 
<functionpoint x="0.006" y="13"/> 
<functionpoint x="0.1205" y="14"/> 
<functionpoint x="0.0508" y="15"/> 
<functionpoint x="0.003" y="16"/> 
<functionpoint x="0.0478" y="17"/> 
<functionpoint x="0.0129" y="18"/> 
<functionpoint x="0.2072" y="19"/> 
<functionpoint x="0.001" y="20"/> 



<functionpoint x="0.009" y="21"/> 
<functionpoint x="0.0239" y="22"/> 
<functionpoint x="0.006" y="23"/> 
</locus> 
<locus> 
<functionpoint x="0.003" y="0"/> 
<functionpoint x="0.055" y="1"/> 
<functionpoint x="0.05" y="2"/> 
<functionpoint x="0.169" y="3"/> 
<functionpoint x="0.217" y="4"/> 
<functionpoint x="0.001" y="5"/> 
<functionpoint x="0.155" y="6"/> 
<functionpoint x="0.001" y="7"/> 
<functionpoint x="0.083" y="8"/> 
<functionpoint x="0.003" y="9"/> 
<functionpoint x="0.001" y="10"/> 
<functionpoint x="0.078" y="11"/> 
<functionpoint x="0.066" y="12"/> 
<functionpoint x="0.041" y="13"/> 
<functionpoint x="0.019" y="14"/> 
<functionpoint x="0.044" y="15"/> 
<functionpoint x="0.008" y="16"/> 
<functionpoint x="0.005" y="17"/> 
<functionpoint x="0.001" y="18"/> 
</locus> 
</LOCI> 
<Dioecious value ="false"/> 
 
<Reproduction_Rate> 
<functionpoint x="0" y="0"/> 
<functionpoint x="10" y="10"/> 
<functionpoint x="11" y="0"/> 
<functionpoint x="22" y="0"/> 
</Reproduction_Rate> 
 
<Offspring_Distribution method="bracket"/> 
 
<Pollen_Rate> 
<functionpoint x="0" y="0"/> 
<functionpoint x="1" y="0"/> 
<functionpoint x="2" y="1"/> 
<functionpoint x="7" y="1"/> 
<functionpoint x="8" y="1"/> 
<functionpoint x="10" y="1"/> 
<functionpoint x="11" y="1"/> 
<functionpoint x="20" y="1"/> 
<functionpoint x="22" y="0"/> 
</Pollen_Rate> 
 
<Mortality_Rate> 
<functionpoint x="0" y="0"/> 



<functionpoint x="1" y="0.25"/> 
<functionpoint x="2" y="0.1"/> 
<functionpoint x="3" y="0.1"/> 
<functionpoint x="4" y="0.01"/> 
<functionpoint x="5" y="0.01"/> 
<functionpoint x="6" y="0.01"/> 
<functionpoint x="7" y="0.01"/> 
<functionpoint x="8" y="0.01"/> 
<functionpoint x="9" y="0.01"/> 
<functionpoint x="10" y="0.01"/> 
<functionpoint x="11" y="0.01"/> 
<functionpoint x="12" y="0.02"/> 
<functionpoint x="13" y="0"/> 
<functionpoint x="14" y="0.05"/> 
<functionpoint x="15" y="0.25"/> 
<functionpoint x="16" y="0.05"/> 
<functionpoint x="17" y="0.05"/> 
<functionpoint x="18" y="0.05"/> 
<functionpoint x="19" y="0.1"/> 
<functionpoint x="20" y="0.01"/> 
<functionpoint x="21" y="1"/> 
</Mortality_Rate> 
 
<Selfing_Rate value ="0.038"/> 
 
<RandomMating value="true"/> 
<Fruit_Distance value ="0.0"/> 
 
<Dispersal_Distribution> 
<functionpoint x="0" y="0"/> 
<functionpoint x="1" y="0.8"/> 
<functionpoint x="2" y="0.9"/> 
<functionpoint x="3" y="0.95"/> 
<functionpoint x="4" y="0.97"/> 
<functionpoint x="5" y="0.99"/> 
<functionpoint x="6" y="1"/> 
</Dispersal_Distribution> 
<Pollen_Distances> 
<SampledFunction> 
<functionpoint x="0" y="2"/> 
<functionpoint x="1" y="5"/> 
<functionpoint x="2" y="15"/> 
<functionpoint x="3" y="20"/> 
<functionpoint x="4" y="50"/> 
<functionpoint x="5" y="100"/> 
</SampledFunction></Pollen_Distances> 
<Pollen_Distance_Probabilities> 
<functionpoint x="0.01" y="5"/> 
<functionpoint x="0.01" y="6"/> 
<functionpoint x="0.03" y="4"/> 
<functionpoint x="0.05" y="3"/> 



<functionpoint x="0.1" y="2"/> 
<functionpoint x="0.2" y="1"/> 
<functionpoint x="0.6" y="0"/> 
</Pollen_Distance_Probabilities> 
<Region XL="0" YL="0" XH="2,000" YH="2,000" > 
 
</Region> 
<SummaryRegions> 
</SummaryRegions> 
<Number_Generations value ="50"/> 
<Number_Runs value ="10"/> 
<Initial_Population> 
<Plant age="0" femaleP="false" X="4" Y="5"/> 
<Plant age="0" femaleP="false" X="8" Y="5"/> 
<Plant age="0" femaleP="false" X="12" Y="5"/> 
<Plant age="0" femaleP="false" X="16" Y="5"/> 
<Plant age="0" femaleP="false" X="20" Y="5"/> 
<Plant age="0" femaleP="false" X="24" Y="5"/> 
<Plant age="0" femaleP="false" X="28" Y="5"/> 
<Plant age="0" femaleP="false" X="32" Y="5"/> 
<Plant age="0" femaleP="false" X="36" Y="5"/> 
<Plant age="0" femaleP="false" X="40" Y="5"/> 
<Plant age="0" femaleP="false" X="44" Y="5"/> 
<Plant age="0" femaleP="false" X="48" Y="5"/> 
<Plant age="0" femaleP="false" X="52" Y="5"/> 
<Plant age="0" femaleP="false" X="56" Y="5"/> 
<Plant age="0" femaleP="false" X="60" Y="5"/> 
<Plant age="0" femaleP="false" X="64" Y="5"/> 
<Plant age="0" femaleP="false" X="68" Y="5"/> 
<Plant age="0" femaleP="false" X="72" Y="5"/> 
<Plant age="0" femaleP="false" X="76" Y="5"/> 
<Plant age="0" femaleP="false" X="80" Y="5"/> 
<Plant age="0" femaleP="false" X="84" Y="5"/> 
<Plant age="0" femaleP="false" X="88" Y="5"/> 
<Plant age="0" femaleP="false" X="92" Y="5"/> 
<Plant age="0" femaleP="false" X="96" Y="5"/> 
<Plant age="0" femaleP="false" X="100" Y="5"/> 
<Plant age="0" femaleP="false" X="4" Y="9"/> 
<Plant age="0" femaleP="false" X="8" Y="9"/> 
<Plant age="0" femaleP="false" X="12" Y="9"/> 
<Plant age="0" femaleP="false" X="16" Y="9"/> 
<Plant age="0" femaleP="false" X="20" Y="9"/> 
<Plant age="0" femaleP="false" X="24" Y="9"/> 
<Plant age="0" femaleP="false" X="28" Y="9"/> 
<Plant age="0" femaleP="false" X="32" Y="9"/> 
<Plant age="0" femaleP="false" X="36" Y="9"/> 
<Plant age="0" femaleP="false" X="40" Y="9"/> 
<Plant age="0" femaleP="false" X="44" Y="9"/> 
<Plant age="0" femaleP="false" X="48" Y="9"/> 
<Plant age="0" femaleP="false" X="52" Y="9"/> 
<Plant age="0" femaleP="false" X="56" Y="9"/> 



<Plant age="0" femaleP="false" X="60" Y="9"/> 
<Plant age="0" femaleP="false" X="64" Y="9"/> 
<Plant age="0" femaleP="false" X="68" Y="9"/> 
<Plant age="0" femaleP="false" X="72" Y="9"/> 
<Plant age="0" femaleP="false" X="76" Y="9"/> 
<Plant age="0" femaleP="false" X="80" Y="9"/> 
<Plant age="0" femaleP="false" X="84" Y="9"/> 
<Plant age="0" femaleP="false" X="88" Y="9"/> 
<Plant age="0" femaleP="false" X="92" Y="9"/> 
<Plant age="0" femaleP="false" X="96" Y="9"/> 
<Plant age="0" femaleP="false" X="100" Y="9"/> 
<Plant age="0" femaleP="false" X="4" Y="13"/> 
<Plant age="0" femaleP="false" X="8" Y="13"/> 
<Plant age="0" femaleP="false" X="12" Y="13"/> 
<Plant age="0" femaleP="false" X="16" Y="13"/> 
<Plant age="0" femaleP="false" X="20" Y="13"/> 
<Plant age="0" femaleP="false" X="24" Y="13"/> 
<Plant age="0" femaleP="false" X="28" Y="13"/> 
<Plant age="0" femaleP="false" X="32" Y="13"/> 
<Plant age="0" femaleP="false" X="36" Y="13"/> 
<Plant age="0" femaleP="false" X="40" Y="13"/> 
<Plant age="0" femaleP="false" X="44" Y="13"/> 
<Plant age="0" femaleP="false" X="48" Y="13"/> 
<Plant age="0" femaleP="false" X="52" Y="13"/> 
<Plant age="0" femaleP="false" X="56" Y="13"/> 
<Plant age="0" femaleP="false" X="60" Y="13"/> 
<Plant age="0" femaleP="false" X="64" Y="13"/> 
<Plant age="0" femaleP="false" X="68" Y="13"/> 
<Plant age="0" femaleP="false" X="72" Y="13"/> 
<Plant age="0" femaleP="false" X="76" Y="13"/> 
<Plant age="0" femaleP="false" X="80" Y="13"/> 
<Plant age="0" femaleP="false" X="84" Y="13"/> 
<Plant age="0" femaleP="false" X="88" Y="13"/> 
<Plant age="0" femaleP="false" X="92" Y="13"/> 
<Plant age="0" femaleP="false" X="96" Y="13"/> 
<Plant age="0" femaleP="false" X="100" Y="13"/> 
<Plant age="0" femaleP="false" X="4" Y="17"/> 
<Plant age="0" femaleP="false" X="8" Y="17"/> 
<Plant age="0" femaleP="false" X="12" Y="17"/> 
<Plant age="0" femaleP="false" X="16" Y="17"/> 
<Plant age="0" femaleP="false" X="20" Y="17"/> 
<Plant age="0" femaleP="false" X="24" Y="17"/> 
<Plant age="0" femaleP="false" X="28" Y="17"/> 
<Plant age="0" femaleP="false" X="32" Y="17"/> 
<Plant age="0" femaleP="false" X="36" Y="17"/> 
<Plant age="0" femaleP="false" X="40" Y="17"/> 
<Plant age="0" femaleP="false" X="44" Y="17"/> 
<Plant age="0" femaleP="false" X="48" Y="17"/> 
<Plant age="0" femaleP="false" X="52" Y="17"/> 
<Plant age="0" femaleP="false" X="56" Y="17"/> 
<Plant age="0" femaleP="false" X="60" Y="17"/> 



<Plant age="0" femaleP="false" X="64" Y="17"/> 
<Plant age="0" femaleP="false" X="68" Y="17"/> 
<Plant age="0" femaleP="false" X="72" Y="17"/> 
<Plant age="0" femaleP="false" X="76" Y="17"/> 
<Plant age="0" femaleP="false" X="80" Y="17"/> 
<Plant age="0" femaleP="false" X="84" Y="17"/> 
<Plant age="0" femaleP="false" X="88" Y="17"/> 
<Plant age="0" femaleP="false" X="92" Y="17"/> 
<Plant age="0" femaleP="false" X="96" Y="17"/> 
<Plant age="0" femaleP="false" X="100" Y="17"/> 
</Initial_Population> 
<FoundersF value ="0.038"/> 
 
 
S2. Example output file for the NEWGARDEN modelling software illustrating output parameters for 
Grevillea paradoxa. Output file corresponds to the input file in S1. 
 
cohort,subregion,age,mean(pop),sd(pop),mean(alleles),sd(alleles),mean(Hobserved),sd(H), 
H.exptd,sd(), Fcalc, sd(Fcalc),Ne, sd(Ne) 
true,0,0,100,0,122.6,4.949,0.492,0.014,0.665,0.009,0.26,0.021,0,0 
true,0,1,0,0,0,0,0,0,?,?,?,?,?,? 
true,0,2,0,0,0,0,0,0,?,?,?,?,?,? 
true,0,3,19,3.018,73.5,6.485,0.513,0.059,0.64,0.021,0.198,0.097,?,? 
true,0,4,6.5,1.179,49.4,8.527,0.484,0.099,0.576,0.049,0.161,0.164,4.583,11.333 
true,0,5,4.9,2.132,42.1,9.608,0.479,0.162,0.543,0.06,0.1,0.339,-10.236,25.083 
true,0,6,8.8,2.394,57.9,8.171,0.524,0.1,0.618,0.032,0.156,0.137,-0.287,2.369 
true,0,7,8.3,2.003,53.6,6.67,0.486,0.084,0.594,0.039,0.181,0.136,1.338,2.555 
true,0,8,9.5,1.958,56,5.578,0.514,0.074,0.606,0.025,0.154,0.101,-2.353,12.311 
true,0,9,12.4,3.978,61.7,6.147,0.48,0.08,0.624,0.028,0.228,0.139,?,? 
true,0,10,12.4,1.647,64.1,4.954,0.535,0.088,0.632,0.023,0.155,0.129,2.624,8.44 
true,0,11,13.1,3.381,62.6,7.397,0.522,0.063,0.615,0.021,0.15,0.112,6.461,14.823 
true,0,12,16.1,3.814,66.5,5.986,0.515,0.058,0.617,0.034,0.166,0.077,0.795,8.317 
true,0,13,15.5,5.148,64.9,6.262,0.511,0.033,0.632,0.028,0.192,0.057,-1.905,9.083 
true,0,14,16.5,4.503,65.9,6.332,0.525,0.079,0.628,0.024,0.165,0.113,8.457,28.085 
true,0,15,16.6,4.169,63.5,6.637,0.49,0.062,0.62,0.028,0.21,0.095,0.931,6.386 
true,0,16,17.3,4.084,65.7,7.832,0.516,0.052,0.619,0.034,0.166,0.088,0.355,7.669 
true,0,17,17.2,5.051,64.3,4.218,0.496,0.087,0.614,0.025,0.193,0.135,67.863,213.465 
true,0,18,16.6,3.921,64.5,5.442,0.501,0.056,0.62,0.028,0.192,0.083,-0.737,7.765 
true,0,19,17.7,3.057,65.4,6.433,0.486,0.063,0.631,0.037,0.231,0.069,0.782,9.647 
true,0,20,16.9,5.685,63.1,6.385,0.499,0.067,0.606,0.03,0.175,0.107,1.844,5.915 
true,0,21,16.2,3.824,62.3,6.201,0.465,0.079,0.62,0.027,0.249,0.12,0.731,3.608 
true,0,22,18.5,3.923,64.3,6.55,0.489,0.041,0.624,0.028,0.217,0.047,-0.889,7.059 
true,0,23,19.7,3.622,64.8,5.266,0.494,0.061,0.616,0.031,0.198,0.085,-2.807,9.201 
true,0,24,17.4,5.7,63.2,6.909,0.463,0.053,0.612,0.04,0.244,0.069,-3.516,18.358 
true,0,25,18.4,4.452,64.1,4.841,0.488,0.048,0.624,0.03,0.217,0.057,-11.229,14.277 
true,0,26,21.7,4.62,66.1,4.533,0.47,0.047,0.612,0.036,0.232,0.067,-1.354,13.408 
true,0,27,21.3,4.62,65.4,5.4,0.492,0.06,0.615,0.031,0.2,0.082,-26.39,60.669 
true,0,28,24.3,3.268,67.2,6.052,0.475,0.058,0.621,0.037,0.237,0.063,-1.359,11.601 
true,0,29,24.5,7.276,66.6,7.214,0.463,0.054,0.622,0.034,0.256,0.054,2.668,19.705 
true,0,30,21.8,3.676,66.6,5.082,0.503,0.068,0.626,0.038,0.196,0.1,45.127,152.635 
true,0,31,24.5,4.353,66.6,6.552,0.511,0.052,0.632,0.035,0.191,0.065,-13.876,27.497 



true,0,32,22.8,4.756,65.2,4.022,0.503,0.06,0.622,0.035,0.192,0.079,3.377,6.832 
true,0,33,25.7,5.417,67.7,6.961,0.477,0.027,0.618,0.033,0.227,0.05,-5.013,13.27 
true,0,34,27.7,3.773,68.9,4.383,0.502,0.05,0.629,0.029,0.203,0.06,0.946,14.946 
true,0,35,25.3,6.584,66.2,2.348,0.488,0.054,0.624,0.037,0.218,0.065,-0.307,9.902 
true,0,36,25.4,4.006,65.9,4.677,0.487,0.073,0.613,0.047,0.206,0.103,-7.126,29.771 
true,0,37,27.4,3.921,66.9,5.607,0.48,0.05,0.623,0.036,0.231,0.047,8.688,80.93 
true,0,38,28,7.587,67.9,7.81,0.487,0.048,0.628,0.031,0.225,0.063,-19.579,55.613 
true,0,39,29.2,5.865,66.7,5.716,0.486,0.038,0.628,0.034,0.226,0.041,-7.63,33.757 
true,0,40,28.8,3.584,66.4,4.502,0.494,0.037,0.619,0.027,0.201,0.058,?,? 
true,0,41,30.2,3.259,68.6,5.719,0.479,0.054,0.617,0.028,0.225,0.065,7.711,30.642 
true,0,42,28.1,4.533,66.2,5.865,0.486,0.06,0.615,0.033,0.21,0.079,3.219,11.635 
true,0,43,30.6,4.326,67.5,6.451,0.505,0.038,0.623,0.036,0.188,0.058,27.862,90.573 
true,0,44,34.6,5.892,67.2,3.91,0.483,0.041,0.616,0.041,0.216,0.049,4.774,31.02 
true,0,45,32.1,3.381,65.1,3.843,0.479,0.059,0.614,0.036,0.22,0.074,-6.713,31.215 
true,0,46,32.7,4.692,68.7,5.056,0.49,0.04,0.621,0.034,0.211,0.056,-65.493,200.09 
true,0,47,34.9,5.607,67.8,4.131,0.502,0.044,0.615,0.041,0.184,0.057,-0.095,11.441 
true,0,48,34.9,6.297,66.1,4.095,0.479,0.046,0.622,0.031,0.23,0.062,7.269,9.208 
true,0,49,38.9,6.1,69.2,5.073,0.49,0.049,0.629,0.042,0.221,0.052,-0.46,5.216 
false,0,0,100,0,122.6,4.949,0.492,0.014,0.665,0.009,0.26,0.021,0,0 
false,0,1,100,0,122.6,4.949,0.492,0.014,0.665,0.009,0.26,0.021,?,? 
false,0,2,73.5,5.169,113.7,5.889,0.493,0.021,0.66,0.01,0.253,0.03,-0.397,53.5 
false,0,3,53.7,5.012,100.1,5.527,0.496,0.02,0.658,0.013,0.246,0.038,-77.648,186.867 
false,0,4,56.3,5.208,99.3,5.832,0.495,0.023,0.656,0.014,0.244,0.044,267.496,569.801 
false,0,5,56.6,6.114,97.6,5.777,0.49,0.012,0.653,0.017,0.249,0.033,?,? 
false,0,6,55.7,6.8,94.3,5.293,0.495,0.024,0.653,0.018,0.24,0.043,-7.462,40.763 
false,0,7,59.1,7.31,93.6,5.621,0.495,0.027,0.653,0.017,0.242,0.046,-2.214,245.081 
false,0,8,63.4,6.915,93.1,5.343,0.496,0.029,0.652,0.015,0.238,0.045,-23.191,48.054 
false,0,9,70.8,8.025,92.4,5.42,0.495,0.027,0.651,0.018,0.24,0.042,-4.682,52.828 
false,0,10,77.4,8.449,91.6,5.582,0.499,0.025,0.652,0.02,0.233,0.038,-22.649,42.279 
false,0,11,82.4,9.766,91.6,5.582,0.507,0.025,0.651,0.02,0.221,0.036,-9.83,108.34 
false,0,12,90.3,11.499,91.5,5.543,0.508,0.019,0.648,0.021,0.215,0.029,-260.084,585.116 
false,0,13,95,11.671,90.9,5.384,0.508,0.017,0.649,0.021,0.217,0.025,-31.209,79.629 
false,0,14,100,11.633,90.7,5.579,0.508,0.016,0.65,0.021,0.217,0.033,-395.97,1233.842 
false,0,15,105.2,11.535,90.5,5.642,0.504,0.024,0.65,0.02,0.224,0.041,0.125,53.885 
false,0,16,109.1,10.181,90.2,5.432,0.505,0.021,0.647,0.019,0.219,0.039,-31.912,151.372 
false,0,17,112.3,10.625,89.7,5.579,0.501,0.02,0.645,0.021,0.222,0.032,-10.95,119.926 
false,0,18,116.7,9.615,89.4,5.275,0.5,0.017,0.645,0.023,0.225,0.027,-14.067,211.06 
false,0,19,120.1,8.812,88.9,5.087,0.501,0.023,0.646,0.024,0.224,0.029,16.372,94.66 
false,0,20,124.2,8.753,88.6,5.103,0.504,0.025,0.645,0.025,0.218,0.028,-25.253,112.918 
false,0,21,126,11.944,88.3,5.1,0.498,0.023,0.644,0.025,0.227,0.022,356.541,997.795 
false,0,22,116.2,10.83,85.4,3.627,0.503,0.025,0.642,0.026,0.216,0.027,3949.685,13108.982 
false,0,23,121.9,12.27,85,3.496,0.501,0.022,0.642,0.026,0.22,0.019,54.716,339.776 
false,0,24,128.1,14.806,85,3.496,0.499,0.023,0.641,0.026,0.223,0.019,20.93,84.346 
false,0,25,128,14.583,84.5,3.567,0.497,0.025,0.641,0.027,0.225,0.016,-37.74,126.447 
false,0,26,133.9,12.879,84.3,3.529,0.494,0.024,0.641,0.028,0.229,0.019,123.71,429.378 
false,0,27,140.8,13.588,83.9,3.414,0.496,0.029,0.639,0.03,0.223,0.021,-1296.02,3811.08 
false,0,28,149.4,13.335,83.6,3.718,0.492,0.028,0.638,0.03,0.228,0.019,139.236,500.636 
false,0,29,154.9,17.426,83.1,4.228,0.488,0.032,0.639,0.03,0.237,0.024,15.237,139.977 
false,0,30,159.5,17.583,82.7,4.218,0.49,0.03,0.639,0.03,0.234,0.02,2.676,48.859 
false,0,31,162,16.667,82.4,4.142,0.497,0.026,0.641,0.03,0.223,0.023,-26.763,55.523 
false,0,32,166.3,16.553,82.3,4.27,0.496,0.027,0.64,0.031,0.225,0.024,36.403,60.352 



false,0,33,171.4,17.765,82,4.397,0.493,0.025,0.638,0.032,0.226,0.025,-39.579,276.632 
false,0,34,178.2,15.74,82,4.397,0.492,0.03,0.638,0.031,0.228,0.026,128.529,376.338 
false,0,35,181.9,16.059,82,4.397,0.489,0.032,0.637,0.033,0.232,0.025,-1396.683,4367.597 
false,0,36,185.5,17.148,81.7,4.398,0.488,0.037,0.636,0.035,0.234,0.029,15.93,152.929 
false,0,37,189.1,15.358,81.6,4.377,0.488,0.038,0.636,0.034,0.233,0.032,1326.347,3085.607 
false,0,38,193.5,13.377,81.4,4.351,0.486,0.036,0.637,0.032,0.237,0.031,14.611,72.128 
false,0,39,198.1,16.816,81.2,4.29,0.485,0.033,0.637,0.033,0.239,0.025,-14.13,125.424 
false,0,40,201.1,19.621,81.1,4.28,0.488,0.031,0.636,0.033,0.233,0.028,11.887,113.916 
false,0,41,205.6,17.602,81,4.32,0.485,0.036,0.635,0.033,0.236,0.029,-25.895,108.416 
false,0,42,207.3,17.359,80.4,4.248,0.486,0.034,0.634,0.034,0.234,0.023,38.199,83.867 
false,0,43,214.1,18.628,80.1,3.9,0.489,0.032,0.633,0.034,0.229,0.02,-66.688,108.169 
false,0,44,221.3,16.118,79.8,4.05,0.487,0.033,0.632,0.035,0.23,0.025,-83.478,251.982 
false,0,45,229.9,17.343,79.6,4.033,0.486,0.033,0.631,0.036,0.23,0.024,25.499,78.536 
false,0,46,233.9,19.479,79.4,3.893,0.486,0.032,0.632,0.035,0.231,0.021,107.286,158.782 
false,0,47,238.8,21.903,79.2,3.994,0.487,0.032,0.63,0.037,0.228,0.017,-644.307,2005.437 
false,0,48,245.4,18.946,78.9,3.872,0.484,0.031,0.631,0.036,0.233,0.017,-103.475,311.15 
false,0,49,254,16.793,78.8,3.795,0.486,0.033,0.633,0.038,0.232,0.019,21.105,176.938 
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